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1. For which of the following sports is the ‘golden 6. 'Who amongst the following is the Chicf Election

ball award’ given 7 Commissioner of India 7
(A) Cricket (A) Sukumar Sen
(B) Hockey (B) Sunil Arora
(C) Foothall (C) Rajiv Kumar
(D) Ternis (D) Arn Goel
2 Who won the Nobel Prize for Peace in 20237 7. Who is the permanent represcntative of India in
- the United Nations 7
e Ashok K i
A 4 Mukherj
(1) Ales Bialiatski “) smmm
(B) baruddin
(C) Narges Mohammadi :
(D) Pierre Agostini (C) Ruchira Kamboj
(D) None of the above
3.  Who is the author of the novel “Invisible Man' ? :
8. Who is the Attorney General of India 7
(A) John Don
& 1 (A) KK. Venugopal
J (B) R.Venkataramani '
Don Quixote
© qml (C) Mukul Rohatgi
b : (D) Harish Salve
4. \h’hlchlndimMr:numthcﬂuqum.EMJ 9. KKR won the latest IPL 2024 i |
for music and lyrics 7 it ¥ g |
(A) Lagmn (A) Dincsh Karthik I
9 R (®) V. lyer |
(C) Shumdog (C) S.lyer
(D) None of the above (D) P. Cummins
5, "My Own Boswell' was authored by : 10. Who amongst the following was awarded Bharat
(A) Justice Bhagwati Ratna for 2024 7

(A) M.S. Swaminathan
(B) P.V. Narasimha Rao

(C) Karpoori Thakur
(D) All of the above

(B) Justice Kuldip Singh
(C) Justice Hidayatullah
(D) Justice Fali Nariman
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11.

What is the antonym of the word 'virulent' 7
(A) Dangerous

(B) Lethal

(C) Powerful

(1) Amicable

What does the word 'scintillating’ mean ?
(A) Bxasting

(B) Immature

(C) Shining

(D) Robust

Who has written the novel * hummingbird' 7
(A) E.M. Foster

(B) Sandro Veronesi

(C) Rana Ayub

(D) None of the above

Who authored the first English dictionary 7
(A) James Morison

(B) Samuel Johnson

(C) K.T. Watson

(D) None of the above

13.

14.

15. A person who hates ‘knowledge and leaming’ is

called :

(A) Bibliophile
(B) Misogynist
(C) Misologist
(D) Philokogist

SP-4722-D 3
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16.

17.

18.

19,

20.

In a coded language 'DOCTOR' is written as
'OOCDRT, how can the word 'RABBIT be
written 7

(A) IBBART
(B) RTIBBA
(C) ABBIRT
(D) AIBBRT

"X introduces "Y" as ' He is the husband of the
granddaughter of my father's father’. What is Y to
X7

(A) Brother

(B) Uncle

(C) Brother-in-Law

(D) Father-in-Law

Fill up the missing term amongst the following :
Paisa: Rupee :: __ : Kilometre

(A) Metre

(B) Hectometre

(€) Quintal

(D) Decametre

The author of the world-famous Harry Potter’ is :
(A) Arundhati Roy

(B) Bob Samson

(C) K. Rowling

(D) John Ruskin

Which of the following pair of words is differently
related 7

{A) Cruel : Kind

(B) Slow : Shuggish

(C) Stale : Fresh

(D) Truth: Lie



21. What is an ECO-MARK 7 26.

(A) A scheme for labelling Environment-Fricndly
Consumer Product

(B) A scheme for labelling Pollution-Froe Industrial
Units

(C) A Cost-effective Production Technique
(D} An Intemational Certification Recognizing. Eco- 27.
Friendly building
22. Which Act under the Environmental Law is known
as umbrella legislation 7
(A) The Public Liability Insurance Act, 1991
(B) National Green Tribunal Act, 2010
(C) Environment Protection Act, 1986
(D) Biological Diversity Act, 1992 28.

23, The Paris Agreement on climate change was adopted
by the world body in the year

(A) December 15, 2014
(B) December 10, 2016
(C) December 12, 2015
(D) December 10, 2018
24, Within the urisdiction of which High Court does >
Lakshadwecp fall ?
(A) Bombay High Court
(B) Kerala High Court
(C) Madras High Court
(D) Kamataka High Court
25, The oath of office to the President of India is 45
administered by :
(A) Speaker of the Lok Sabha
(B) Chairman of the Rajya Sabha
(C) Chief Justice of the High Court
(D) None of the above

SP-4722-D ' 4
Qoo

The E-court project was launched in the year :
(A) 2011
(B) 2009
(C) 2007
(D) 2015

Which of the following has not been a woman judge
of the Supreme Court till 2009 7

(A) Justice Sujata Manohar

(B) Justice Fatima Bibi

(C) Justice Cyan Sudha Mishra

(D) Justice Roma Paul
Fundamental Rights in India were borrowed from
the constitution of :

(A) Irish Constitution

(B) Canadian Constitution

(C) US Constitution

(D) Russian Constitution

The Objective Resolution while framing the
Constitution was introduced by :

(A) B.R. Ambedkar

(B) Gopala Krishna lyengar

(C) P1 Jawaharlal Nehru

(D) Pt. Deen Dayal Sharma

The book "We the People’ was authored by :
(A) M.J. Akber

(B) Ruldeep MNair

(C) N.A. Palkivala

(D) Anm Joshi




31. Which of the following Chinese pilgrims gives 36. Which among the following constitutions is similar

an account of the First Gupta Ruler ? to the Indian Constitution because of a strong
(A) Fa Hien m‘:;
(A)
{(B) Huen Tsang
) (B) Canada

(C) lsing & B
(D) None of the above o3

apan

32. The real name of Mu Emperor Shah Alam 1 ‘ :
it : p 37. Who among the following decides the Foreign Policy
A - of India ?
| €9 &m; _— ) (A) President

(B) 1 "ﬂﬂlﬂ* Tam (B) Prime Mini
(C) Mirza Najaf Khan (C) Paii "

i (D) Ali Gauhar

(D) Council of Ministers'Cabinet
' 13, Who among the following is the Medieval Indian 1 ;
: - f External Affairs and
writer who refers to the discovery of America ? 38. Who held the portfolio o airs

' Commonwealth relations in the first cabinet of free

(A) Malik Muhammad Jayasi Inckia 7

(B) Amir Khusrau (A) Jawnharlal Nehru

(C) Rakshan (B) Sardar Vallabhbhai Patel
(D) Abul Fazl (C) Dr. Rajendra Prasad

34. Which among the following British men tried to (D) Maulana Abdul Kalam Azad
obtain a Farman for trade in Gujarat from Emperor 44

. How many High Courts are there in India at present 7

Akbar 7 @) 24
(A) Ralph Fitch ®) 23
(B) John Mildenhall (©) 25
(C) Sir Thomas Roc D) 27

) G 40. The policy to clean the environment is a Directive
35. Which of the following was the Governor General Principle provided under :

of India during the revolt of 1857 7 (A) Article 43 of the Constitution

(A) Lord Hastings (B) Article 47A of the Constitution
(B) Lord Canning (C) Article 48 of the Constitution
(C) Lord Amherst (D) Article 48A of the Constitution
(D) Lord Auckland
SP4722-D 5 [Tarn over
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41. Mhﬂmdhu‘uri\mhﬂﬂhﬁmmimh 46. Which of the following is not the classification of

i :

(A} Tapti
(B3) Kaveri
(C) Krishna
(D) Narmada

47.

42. The head-quarters of Northcastern Railways is:

(A) Lucknow
(B) Gorakhpur
(C) Patna
(D) Kolkata
43. The most important Coalfield in Indiais :
(A) Jharia Coalficld
(B) Rani Gang Coalfield
(C) Korba Coalfield
(D) Singrauli Coalficld

44. India is the seventh largest country in the world 4

and occupies :
(A) 7% of the World's arca
(B) 5% of the World's arca
(C) 4% of the World's arca
(D) 2.4% of the World's arca
45. The oldest rocks in India are reported from :
(A) Dharwad region, Kamataka
(B) Aravalli range, Rajasthan
(C) Vindhyan range, Madhya Pradesh
(D) Siwalik range, Punjab

SP-4722-D

48,

50.

aoDo0

e-commerce 7

(A) B2C(Business-to-Consumer)
(B) D2D{Distributer-to-Distributer)
(C) C2C{Consumer-to-Consumer)
(D) B2B(Business-o-Business)
Macroeconomics is also known as

(D) Theory of inflation
mh-mnrmmm:mmm
together to make use of the advantages offered
by urban centers known as 7

(A) Rural economics
(B) Amalgamation economics
(C) Urban economies
(D) Agglomeration economics

9. ‘Which of the following States is the largest producer

of food grains in India ?

(A) Punjab

(B) Kamataka

(C) Uttar Pradesh

(D) Madhya Pradesh

The law of Variable Proportions was developed
by
(A) Alfred Marshel
(B) Adam Smith
(C) Robbins

(D) Jacob

s — e




51. 56.

What are the main constituents of LPG 7
(A) Methane, Hexane, Ethane

(B) Methane, Butane, Propane

(C) Ethane, Pentane, Hexane

(D) Ethane, Methane, Pentane

Which among the following is not a ‘hereditary’ iy
discase 7

(A) Thalassemia
(B) Colour-Blindness
(C) Haemophilia
D) Leukacmia

Which body organ is the discase ‘Glaucoma’ related *°
wo?

(A) Ear

(B) Hean

(C) Bones

(D) Eye

Electric bulb filament is made of :
(A) Ahminim

(B) Copper

(C) Lead

(D) Tungsten

52.

33

59.

Which of the following is the cloud computing
platform under the Digital India initiative ?

(A) Digi locker
(@) BHIM
(C) MeghRaj
(D) SWAYAM

. The first Cyber Law that provides the legal

infrastructure for e-commerce in India is :
(A) Information Technology Act, 2005

(B) Information Technology Act, 2001

(C) Information Technology Act, 2000

(D) Information Technology Act, 1998

URL stands for :

{A) Universal Resource Location

(B) Universal Response Locator

(C) Unified Response Location

(D) Uniform Resource Locator

Which is the agency of the Central Government
and Projects to Media 7

(A PT1

B) PIB

(C) AIR

D) PCl

60. PHISHING means :

55, Which of the following matters is used in pencils 7
(A) Phosphorus

(B) Graphite

(C) Silicon

(D) Charcoal

'SP4T22-D -
Qoon

(A) Access to personal data of others in good
faith

(B) Misuse of other's data as onc's own

(C) Cyber-attack by fraudulent emails, and texts
to reach victims

D) All of the above
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The Mudim League adopted the resolution for a 6.
Separate nation in the year :

(A) 1907

(B) 1922

(C) 1931

(D) 1940

Arya Samg was founded in which year?

(A) 1872

(B) 1875

(C) 1882

(D) 1883

Who was the Governor Generd of India during the
Sepoy mutiny? 8.
(A) Lord Ddhouse

(B) Lord Canning

(C) Lord Hardinge

(D) Lord Lytton

Inwhich session of the Indian National Congressdid
the hitoric union of Congress and Mudim League o
take place?

(A) Sura
(B) Bombay
(C) Cdcutta
(D)
The firg woman to become a Chief Minigter of any
Satein Indiawas :

(A) Nandini Sapathy
(B) Dr.J Jaydditha
(C) SuchetaKripdani
(D) Ms. Mayawati

Lucknow

10.

SM-29572-A 2

Who was the condtitutiond advisor to the Condtituent

Asmbly in India?

(A) Dr. RgendraPrasad

(B) Dr.B.R. Ambedkar

(C) B.N.Rao

(D) None of these

In Indialegd sovereignty is vested with :
(A) ThePresdent

(B) Theludiciary

(C) ThePaliament

(D) The Condtitution

“Cabinet system” and “Collective responsbility” are

the contributions of :

(A) USA

(B) India

(C) Britan

(D) France

The organs of the Indian Parliament are :

(A) Presdent, Lok Sabha & Rgya Sabha
(B) Lok Sabha& Raya Sabha

(C) Spesker, Prime Minister & Lok Sabha
(D) Noneof these

How many members can be nominated by the

President in Rgya Sabha?
(A) 12
(B) 13
(C) 04
(D) 10



11

12.

13.

14.

15.

SM-29572-A

Which of thefollowing isan example of aKharif crop?
(A) Gram

(B) Pea

(C) Cotton

(D) Wheat

TheHimaayan mountain sysem belongstowhich one
of the following?

(A) Fold mountains

(B) Vacanic mountans

(C) Block mountains

(D) None of these

Which of thefollowing passesliesinthe Sutlg valey?
(A) NahulLa

(B) JMeplLa

(C) Shipki La

(D) Sharabathanga

Which one of the fallowing is not a tributary of the
Indus River?

(A) Chenab

(B) Beas

(C) Ravi

(D) Tawi

In which one of the following Idands of Indiais an
active volcano found?

(A) Car Nicobar Idand
(B) Nancowry Idand
(C) Barenldand

(D) MayaBunder Idand

>

16.

17.

18.

19.

20.

Which of the following is not a computer virus ?
(A) AIDS

(8) DON

(C) BRAIN

(D) ANNA KOURNIKOVA

The process by which nitrogen is released into the
amosphereis:

(A)
(B)
(©)
(D)
The roots hanging from the branches of the banyan
treearecaled :

Nitrification
Ammonification
Denitrification

Biologicd nitrogen Fixation

(A) Annular root

(B) Aerid root

(C) Proproot

(D) Climbing root

The concept of expanding universe (big bang theory)
isbased on :

(A)
(B)
(©)
(D)
Enzymes are found in which part of the plant?
(A)
(B)
(©)
(D)

Doppler Effect
Stark Effect
Zemman Effect
Raman Effect

In leaves
In roots
In gems

Indl the living cells of the body

[Turn over



21.

22.

23.

24,

25.

Which of the following is a non-communicable 26.

disease?

(A) Cholera

(B) Epilepsy

(C) Tuberculoss

(D) Smadlpox

AdityaMitta, whowas seenin the news, isassociated
with which sport?

(A) Cricket

(B) Chess

(C) Badminton

(D) Hockey 28.

Who topped the ‘ Forbeslist of theWorld' s100 Most
Powerful Women'?

(A)
(B)
(C) KamdaHaris

(D) SannaMarin

Project Lion is being implemented by which sate
government?

Chrigtine Lagarde

Ursulavon der Leyen

29.

(A) Tamil Nadu 30.

(B) Gujarat

(C) Madhya Pradesh

(D) AndhraPradesh

Which is the first platform to launch ‘UP LITE
payments ?

(A) Google Pay

(B) Mi Pay

(C) Paytm Payments Bank

(D) Airtd Payments Bank

SM-29572-A 4

27.

31

Which Metro servicein Indiahas completed 20 years
of its operations?

(A) Mumba Metro
(B) Déhi Metro

(C) KolkataMetro
(D) Chennai Metro

‘Indian Constitution Defaced and Defiled’ was
authored by :

(A) Venogopdan lyer

(B) Subramaniam Swami

(C) Justice Kuldesp Singh

(D) N.A.Pdkivala

Diet isthe legidature of :

(A) Korea

(B) Netherlands

(C) Japan

(D) SouthAfrica

The number of High Courtsin Indiais:

(A) 18

B) 23

C 21

(D) 25

QUAD countriesare :

(A) Jgpan, South Africa, Audtrdiaand India
(B) Japan, Audtrdia, Indiaand Korea

(C) India Ausraia, USA and New Zedand
(D) India, Japan, the USA and Audrdia
Indian Constitution can be amended under the
provision :

(A) Article 356

(B) Article335

(C) Article 368

(D) Article 359



32.

33.

35.

36.

Thelaw relating to prisoners of war hasbeen codified 37.

by :

(A) GenevaConvention

(B) Vienna Convention

(C) PaisConvention

(D) None of the above

The manager of the wagf isknown as:
(A) Sgjadahnishin

(B) Khadim

(C) Mutawdli

(D) Mujawir

Who among the following was the first Chief
Information Commissioner of India?
(A) Tahir Mehmood

(B) Waahat Habibullah

(C) Irfan Habib

(D) NagmaHeptullah

39.

Justice for the judge : An Autobiography, was
authored by :

(A) Judice Venkatachdia
(B) Judtice P.N.Bhagwati
(C) Jdudtice Ranjan Gogoi
(D) JdudiceJS Vema

Untouchability is prohibited under the provision of the 41-

Conditution :

(A) Article16
(B) Article18
(C) Artice23
(D) Articel7

SM-29572-A 5
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38.

40.

Find the odd one out amongst the following no.s :

8, 27, 64, 100, 125, 216

(A) 8

(B) 27

(C) 100

(D) 216

If “swesat’ can be written as 19235120, how can the
word justice be written?

(A)
(B)
(©)
(D)
What is the antonym of the word ‘everlagting' ?

10221920356
10211920935
10211534726
10211921935

(A) Eternd

(B) Trandent

(C) Fatuous

(D) Mided

Who isthe Attorney Generd of India?
(A)
(B)
(C) Rohit Mucke

(D) Soli Sorahji

‘Ball not jall’ was declared by one of the Hon'ble
judges of the Supreme Court :

K.K.Venogopaan

R.Venkataramani

(A) Judtice P.N.Bhagwati
(B) JusticeD. A. Desai
(C) Jdudtice Krishna lyer
(D) Jdudtice Ranjan Gogoi

[Turn over



42.

46.

47.

Theword ‘secularism’ isfoundin : 48.

(A) Chapter 111 of the Condtitution

(B) Chapter 1V of the Congtitution

(C) The preamble of the Condtitution

(D) Chapter IX of the Congtitution

GST wasintroduced in Indiaby way of an Act passed
inthe year :

(A) 2020

(B) 2018

(C) 2019

(D) 2017

The headquarters of UNESCO islocated in :
(A) New York

49,

(B) Geneva 50.

(C) Pais

(D) Viema

The second-highest peek in the world islocated in :
(A) Nepa

(B) India

(C) Pakistan

(D) Afghanigan

BOT in computer language means :

(A) A computer program that works automatically
(B) A computer network

(C) Aningance of acyber thresat

(D) None of the above

The King of Portugd gifted Bombay as a dowry to 52.

whom?

(A) King Charlesli
(B) King Sullivan
(C) King Williams
(D) KingJohn

SM-29572-A 6

51

Which among the following body is consdered the
guardian of Fundamentd Rights:

(A) Judiciary

(B) Paliament

(C) Ruling Paty

(D) Both(A)& (B)

What does the low price eadticity of demand for a
commodity show?

(A) Necessity of good

(B) Itisaluxury good

(C) It doesn't have importance

(D)
Which state organised the Regiond Conference on
‘e-Governance’ ?

(A) Jharkhand

(B) Maharashtra

(C) Himacha Pradesh

(D) Teangana

Who isthe only femae Indian tennis player towin Sx
grand dams till date?

(A) SaniaMirza

(B) SainaNehwa

(C) AnkitaRana

(D) Karman Kaur Thandi

Which Indian gatebecamethefird fully digital banking
datein the country?

(A) Punjab

(B) Kerda

(C) Tamil Nadu

(D) Himachd Pradesh

Itisaninferior good



53.

55.

56.

Whoisthe present Chief Justice of J& K and Ladekh? 7.

(A) Jdudtice Sanjeev Kumar
(B) Justice Mohan La
(C) Jdudtice N.Kotiswar Singh

(D) None of the above

The currency of South Korea isknown as: %8
(A) Yuan

(B) Sheke

(C) Lira

(D) Won 50.

Who won the Nobel Prize for Peace in 20227
(A) MaiaRessa

(B) Dmitry Murato

(C) AlesBidiaski

(D) None of the above

60.

Which Act provided for the dyarchy sysemin India?
(A) Government of IndiaAct 1935
(B) Government of IndiaAct 1919
(C) Government of IndiaAct 1909

(D) Independence Act 1947

SM-29572-A 7
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Who was the first Chief Justice of India after
independence?

(A) Jdudtice H.R. Gour

(B) Jdudtice Pitanjdi Shadtri

(C) Jdudice H.JKania

(D) None of the above

Thelaw of defection is provided under the Condtitution
in:

(A) SchedulelX
(B) Schedule VI
(C) Schedule X
(D) Schedule VIII

Major Dhyanchand's birthday is celebrated as
Nationad Sports Day in India, on which among the
following dates?

(A) Jduly 29th

(B) August 29th

(©) March 29th

(D) April 29th

Golden handshake refersto :

(A) A scheme of engaging an employee

(B) A scheme of disengaging an employee without
notice

(C) A schemeto opt for voluntary retirement after
due compensation

(D) A schemeto re-employ adismissed employee



ROUGH WORK
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If TRUST is coded as USVTU. How will THRUST 4.

be coded ?

(A) VISUTU
(B) SGQTRS
(C) GSTPRU

(D) UISVTU .

Ahmed is the son of Rahman. Zainab, Rahman’s
sister has son Ali. Salman is the maternal uncle of
Ali. What is the relationship between Zainab and
Salman ?

(A) Maternal uncle

(B) Uncle

(C) Brother

(D) Nephew

Statement :

(I) Some scholars are teachers
(I) Allteachers are men
Conclusion :

() Allscholar are men

(I) Some men are scholars

(II) Some men are teachers

(IV) Allteachers are scholars
Answer :

(A) Only (I) follows

(B) Only (I), (IT) and (IIT) follow
(C) Only (II) and (IIT) follow
(D) Allfollow

Ow

Find the odd one out :
(A) January

(B) September

(C) Sunday

(D) December

Rahim is younger to Sidiq but elder to Rizwan.
Rizwan is elder to Tariq. Shahid is elder to Rizwan
but younger to Rahim. Who is the youngest ?

(A) Rahim
(B) Sidiq
(C) Rizwan
(D) Tariq

Choose the words that are nearest in meaning to
the given word ‘Apostasy’ :

(A) Abandoning of culture
(B) Abandoning of faith
(C) Abandoning of custom
(D) Abandoning of law

There is a lot that a person can bequeath. Choose
the antonym of the word ‘bequeath’ :

(A) Withhold

(B) wil

(C) Gift

(D) None of the above

Allowance which a wife is entitled to on legal
separation :

(A) Compensation
(B) Alimony
(C) Pension

(D) Damages
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Choose the most appropriate option to fill in the 14.
blank. Sita has good over the German

language.

(A) Command

(B) Control

(C) Authority

(D) None of the above

Polygyny is the practice of having : P
(A) Plurality of spouses

(B) Plurality of husbands

(C) Plurality of wives

(D) None of the above

The coronavirus disease (Covid-19) was first 16.
identified in :

(A) Wuhan, China in Sep., 2019

(B) Wuhan, China in Oct., 2019

(C) Wuhan, China in Nov., 2019

(D) Wuhan, China in Dec., 2019

Who is the Chief Justice of India ? 17.
(A) Justice Pankaj Mittal

(B) Justice A.S. Anand

(C) Justice N.V. Ramana

(D) Justice Gita Mittal

Which organization offered ambulances to India in 18
the wake of Covid crises 2021 ?

(A) Amnesty International
(B) International Committee for Red Cross
(C) Edhi Foundation

(D) European Union

O w

Under which scheme e-property cards were

distributed ?

(A) SANTHANA Scheme
(B) SVAMITVA Scheme
(C) PRASANA Scheme

(D) None of the above

Who won the Oscar for best Director in 2021 ?

(A) Anthony Hopkins
(B) Chloe Zhao
(C) McDormand

(D) None of the above

The General Agreement on Tariffs and Trade

(GATT) was signed on :

(A) October 28, 1945

(B) October 29, 1946

(C) October 30, 1947

(D) October 30, 1950

Finance bill can be introduced in :
(A) Lok Sabha only

(B) Rajya Sabha only

(C) Either (A)or(B)

(D) None of the above

. Inflation would likely affect economy :

(A) Toslow down

(B) Unemployment to increase
(C) Purchasing power

(D) All ofthe above
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19. Who divided Economics into Micro and Macro 24. Which of the following is an optical illusion ?
Economics ?

(A) Aurora
(A) Ragnar Frisch

(B) Laser
(B) Jhon Rognath

(C) Waves

(C) William Fairce
(D) None of the above
(D) Henry Fayol
25. Xerophthalmia is disease caused due to the
20. Who won the Nobel Prize for Economics in year .
deficiency of :
2020 ?
) ) (A) VitaminA
(A) Paul R. Milgrom and Robert B. Wilson

. B 1 inB
(B) Paul M. Romor and Abhijit Banerjee (B) Vitamin

(C) Amrita Sen and William D. Nordhaus (C) Vitamin C

(D) None of the above (D) VitaminD

21. Who is popularly known as Human Calculator?  26- Who is popularly known as “Tiger of Mysore”?

(A) Aryabhata (A) Nawab Shujaddaullah
(B) Ramchandara Kaprekar (B) Tipu Sultan
(C) Shakuntala Devi (C) HyderAli
(D) Srinivasan Ramanujan (D) Nawab Jafer
22. Name the biggest organ in Human body ? 27. When was Bengal partitioned ?
(A) Lungs (A) 1905
(B) Pancreas (B) 1930
(C) Liver (C) 1947

(D) Stomach (D) 1971

23. Acquired Immuno Deficiency Syndrome is caused )

5 8. Which Actprescribed ‘Provincial Autonomy’ to the
y:

provinces in India ?

A) Bacteria
(&) (A) The Government of India Act, 1935

(B) Fungus )

(B) Indian Independence Act, 1947
(C) Protozoa

(C) Indian Councils Act, 1909
(D) Virus

(D) The Regulating Act, 1773
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Who founded Home Rule League in 1916 ? 34.

(A) Bipin Chandrapal
(B) Chitranjan Das
(C) Annie Besant

(D) None of the above

In the third battle of Panipat, the Marathas were 35.

defeated by :
(A) Afghans
(B) Mughals
(C) Britishers

(D) Rajputs 36.

Which of the islands is situated in Arabian Sea ?
(A) Lakshadweep

(B) Andaman

(C) Rameshwaram

(D) Mud Islands

37.

Which is the largest continent of the world ?
(A) Europe

(B) Asia

(C) Australia

(D) Africa

Which lake has been the cause of standoff between 38.

India and China ?

(A) Tso Moriri

(B) Pangong Tso

(C) TsoKar

(D) None of the above

O

The study of clouds is known as :

(A) Nematology

(B) Neology

(C) Nephology

(D) Numerology

Richter scale is used to register the intensity of :
(A) Tidal waves

(B) Earthquakes

(C) Volcanoes

(D) Wind

Which organization the United Nations
Organization succeeded ?

(A) The European Union

(B) The Permanent Court of International Justice
(C) The League of Nations

(D) SAARC

Creation of district development councils is an
example of

(A) Federation

(B) Democratic Decentralisation
(C) Administrative Delegation
(D) Direct Democracy

In which case in 2017 the Supreme Court of India
held that the right to privacy is protected under
Article-21 in the context of ?

(A) Power of search and seizure
(B) State surveillance
(C) Indian biometric identification

(D) Homosexuality
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The highest law officer in India is the : 45.

(A) Chief Justice of Supreme Court of India
(B) Attorney General

(C) Solicitor General

(D) Advocate General

Which court has stayed the execution of the death
sentence of Kulbhushan Jadhav ?

(A) Supreme Court of India

(B) Supreme Court of Pakistan
(C) International Court of Justice
(D) International Criminal Court

Which of the following Articles of the Constitution
of India provides for the right to property ?

(A) Article 14
(B) Article31 A
(C) Article 19
(D) Article 300 A

Who amongst the following was not Chief Justice
ofIndia ?

(A) Justice R.M. Lodha

(B) Justice H.J. Kania

(C) Justice A.S. Anand

(D) Justice Krishna Iyer

Power to summon the houses of Parliament is vested
with :

(A) Vice President

(B) President

(C) Prime Minister

(D) Speaker

In case of controversies election petitions in India

48.

are heard by :

(A) Election Tribunals

(B) Election Commission

(C) High Courts and Supreme Court
(D) Special Court

[ON-)

46.

47.

49.

During the vacancy of both the offices of President
and Vice President, their functions can be
discharged by :

(A) Speaker

(B) Prime Minister

(C) Home Minister

(D) Chief Justice of India

Parliament of India consists of :

(A) Lok Sabha, Rajya Sabha

(B) Lok Sabha, Rajya Sabha, Speaker
(C) President, Lok Sabha, Rajya Sabha
(D) Only Lok Sabha

Which under the Constitution of India are
fundamental for the governance of the country ?

(A) Fundamental Rights

(B) Directive Principles of State Policy

(C) Fundamental Duties

(D) Fundamental Rights and Fundamental Duties

Which among the following can a Court issue for
the enforcement of fundamental rights under
Part 111 ?

(A) Ordinance
(B) Decree
(C) Writ

(D) Notification

Which of the following States has its separate
constitution ?

(A) Jammu and Kashmir
(B) Punjab

(C) Himachal Pradesh
(D) None of the above
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Right to Education has been declared as a 56.

fundamental right under article :
(A) Article 14

(B) Article21

(C) Article21 A

(D) Article31 A

Under which Act inter-religious marriages are

allowed in India ? 57.

(A) Hindu Marriage Act

(B) Special Marriage Act

(C) Parsi Marriage Act

(D) None of the above

How many presiding officers are in the Lok
Sabha ?

(A) One

(B) Two

(C) Three

(D) Four

Who administers oath to the President of India ?
(A) Prime Minister

(B) Chief Justice

(C) Speaker Lok Sabha 59
(D) Vice President

The Parliament cannot pass a law which :

58.

(A) Makes reservation in favour of backward
classes
(B) Makes reservation in favour of women

(C) Damages the basic structure of India

(D) None of the above 60.

When was the special status of Jammu and Kashmir
abrogated ?

(A) 4 August2019

(B) 5August2019

(C) 6August2019

(D) 7 August2019

(ORN

In case the President of India wants to resign, he
shall address the resignation to the :

(A) ChiefElection Commissioner
(B) ChiefJustice of India

(C) Prime Minister

(D) Vice President

Who was the first Law Minister of independent
India ?

(A) B.R.Ambedkar

(B) C.Rajagopalachari

(C) Maulana Abdul Kalam Azad
(D) None of the above

Which officer of Government of India has the right
to take part in the proceedings of the Parliament
even though he is not a member ?

(A) Election Commissioner

(B) Vice President

(C) Comptroller and Auditor General
(D) Attorney General of India

. Which of the following offices is held during the

pleasure of the President of India ?
(A) Governor of the State

(B) Comptroller and Auditor General
(C) Vice President

(D) None of the above

As per constitutional requirement the Parliament of
India shall meet at least :

(A) 4times ayear
(B) Thrice a year
(C) Twice ayear
(D) Once ayear
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Which one of the following Sultans extended 6.

agricultural loans called sondhars to the poor

peasants for promoting cultivation ?

(A) Balban

(B) Ala-ud-din Khilji

(C) Mohammad Bin Tughlaq

(D) Firuz Tughlaq 7.

Which of the following statements is not correct ?

(A) TheRig Vedic people worshipped nature

(B) TheRig Vedic Aryans were by and large urban
people

(C) TheRig Vedic family comprised parents and
other kith and kin apart from husband and wife

(D) The Rig Vedic women were hi ghly respected
‘and that most of the religious ceremonies were 8.
considered incomplete unless wives joined their
husbands

The river most metioned in early Vedic literature is :

(A) Sindhu

(B) Satudri

(C) - Sarasvati

(D) Ganga

Which Indian nationalist leader looked upon a war

between Germany and Britain as a god sent 9.

opportunity which would enable Indians to exploit
the situation to their advantage ?

(A) C.Rajagopalachari
(B) M.A.Jinnah

(C) S.C.Bose

(D) Jawaharlal Nehru

The aim of education as stated by the Wood’s
Despatch of 1854 was ;

(A) Thecreation of employment opportunities for

native Indians 10.

(B)  The spread of Western cultur? in India

(C) The promotion of literacy among the people
using English medium language

(D) The introduction of scientific research and
rationalism in the traditional Indian Education

JI-353-A . 2

In Parliamentary System of Government *

(A) Parliament is responsible to the Executive

(B) Parliament is responsible to the J udiciary

(C) The Executive is responsible to Parliament

(D) The Judiciary is responsible to Parliament

Sarkaria Commission was set upto:

(A) Makenecessary investigations and suggestions
regarding the problem of Punjab

(B) Review the Centre-State relations

(C) Investigate the riots that took place in Delhi in
1984

(D) Investigate the assassination of Indira Gandhi

Economic justice as one of the objectives of the Indian

Constitution has been provided in the :

(A) Fundamental Rights and Directive Principles

(B) Preamble and Directive Principles

(C) Preamble and Fundamental Ri ghts

(D) Preamble, Fundamental Ri ghts and Directive
Principles

Which one of the following amendments to the Indian

Constitution empowers the President to send back

any matter for reconsideration by the Council of

Ministers ?

Ay 394

B) 40®

(C) 42nd

(D) 44

Union Territories are administered by the :

(A) Parliament

(B) President

(C) Administrator

(D) ChiefMinister



11.

\
12

13.

14.

15,

16.

JJ-353-A

Which one of following regions is first affected by 17.

the southwest monsoon ?
(A) Kerala Coast
(B) Coromandel Coast
(C) Himachal Pradesh
(D) Bihar
causes the high temperatures of the
stratopause.
(A) Ultraviolet absorption by the Ozone layer
(B) Itsaltitude
(C) Both(A)and (B)
(D) None of these
Antarctica is an example of ;
(A) Mountain glaciers
(B) Continental glaciers
(C) Alpine glaciers
(D) Piedmont glaciers
Anhydrite and gypsum are :
(A) Sulphate minerals
(B) Halide minerals
(C) Phosphate minerals
(D) Oxide minerals
The Assam and Kashmir Himalayas are both part of
the northern mountain complex, but they differ in :

(A) Theirrespective features 20.

(B) Distribution of moisture

(C) Character of natural vegetation and animal life
(D) All ofthe above

Which of the following pairs is correctly matched ?
(A) Rationing
(B) CashReserve Ratio Selective Credit Control
(C) Licensing
(D) Import quota

Comprehensive Control
Physical Control

3
@

18.

19

Fiscal control 21.

There was no independent development of industries
in India during British rule because of the :

(A) Absence ofheavy industries
(B) Scarcity of foreign capital
(C) Scarcity of natural resources
(D) Preference ofthe rich to invest in land
Underdevelopment of the Indian economy at the time
of the independence was due to -

A.  Political factors

B.  Economic factors

L

C.  Social factors

Choose your answer from the following codes :
(A) Bonly

(B) Conly

(C) AandConly

D) A,BandC

Convertibility of the rupee implies :

)
B)

Being able to convert rupee notes into gold
Allowing the value of the rupee to be fixed by
market forces

(C) Freely permitting the conversion of rupee to
other major currencies and vice versa
Developing an international market for
currencies in India

D)

The currency of Malaysia is :

(A) Rupiah

(B) Peso

(C) Leu

(D) Ringgit

Which of the following is a mixture ?
(A) Mercury

(B) Water

(C) Seawater

(D) Gold

[Turn over
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2.

Purest form of iron is :
(A) Wroughtiron
(B) Steel

(C) Pigiron

D)
Antigen is a substance which :

(A) Destroys harmful bacteria

(B) Isusedtotreat poisoning

(C) Lowers body temperature

(D) Stimulates formation of antibody

To an astronaut, the outer space appears ;

(A) Blue

(B) White

(C) Black

(D) Crimson

Who said, “A body will remain at rest unless an
external force acts on the body ?7”

(A) Newton

(B) Einstein

(C) Archimedes

(D) Galileo

Which of the following is primarily a digital book
reader ?

(A) AppleI-Pod

(B) Sandisk Sansa

(C) AmazonKindle

(D) Nokia N 95

Which one of the following storage media has the
maximum storage capacity ?
(A) Digital Video Disc (DVD)
(B) Compact Disc (CD)

(C) Vinyl Record

(D) BlueRayDisc

Castiron

*
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Which of the following is not a video gaming
console ?

(A) Wi

(B) Playstation ‘

(C) X-Box

(D) Macbook

Device that takes data from user and converts it

into form that can be easily understandable by
computer is ;

(A) Storage device

(B) Outputdevice

(C) Inputdevice

(D) Pointing device

An intermediate between computer hardware and
software is :

(A) Desktop

(B) Interface

(C) Firmware

(D) System software

Whatis the name of NASA’s rover for Mars Mission
2020 ?

(A) Prospect

(B) Innovation

(©) Cal

(D) Preservance

Which country will host the UN Climate Summit
‘COP26’ in November 2020 2

(A) USA

(B) UK

(C) France

(D) India

Which Union Territory’s Lieutenant Governor
recently launched a Financial Inclusion Outreach
Campaign ?

(A) NewDelhi

(B) Andaman & Nicobar Islands

(C) Pondicherry

(D) Jammu and Kashmir
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Danie] Arap Moi passed away on February 4,2020. 40.

He was the longest serving President of which
nation ?

(A) Zambia

(B) Egypt

(C) Kenya

(D) The Gambia ;

Which State’s assembly passed a resolution on
January 27, 2020 to abolish the Legislative
Council ?

(A) Telangana

(B) WestBengal

(C©) Andhra Pradesh

(D) Maharashtra

Who has authored the book “The Paradoxical Prime
Minister ?”°

(A) Dr.Manmohan Singh

(B) Preeti Shenoy

(C) P Chidambaram

(D)  Shashi Tharoor

The Nobel Peace Prize 2019 has been awarded to
(A) Peter Handke

(B) William G Kaelin Jr

(C) Abhijit Banerjee

(D) Abiy Ahmed Al

The 2020 recipient of Filmfare Lifetime Achievement
Award is :

(A) Sridevi (Posthumous)

(B) MalaSinha

(C) KaminiKaushal

(D) Ramesh Sippy
“Ghubar-e-Khatir”
works of ;

(A) Hasrat Mohani '
(B) AsafAli

(C) Abul Kalam Azad

(D) Maulana Mazharul Haque

is one of the most important

JJ-353-A
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44,

45.

Who said “All autobiographies are lies. I do not mean
unconscious, unintentional lies : I mean deliberate
lies” ?

(A) Bertrand Russell

(B) RuskinBond

(C) Arundhati Roy

(D) GB. Shaw

Choose the correct spelling in options given below -
(A) Hemorhage

(B) Haemorhhage

(C) Hemoerhage

(D) Haemorrhage
Youmust instantly rush
friend when the need arises.
(A) For

(B) With

(©) o

D) To

The attorney protested that the testimony being
offered was not to the case and asked
that it be struck from the record as irrelevant.

(A) Favourable

(B) Hammfil

(C) Coherent

(D) Germane

The synonym of “virulent”is :

(A) Aninfectious agent

(B) Intenselynoxious

(C) Benevolent

(D) Forgive

Choose the word which is odd oneout :

(A) Barrister

(B) Attorney

(©) Juror

(D) Advocate

the aid of your
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One morning after sunrise, Suraj was standing facing
a pole. The shadow of the pole fel] exactly to his
right. Which direction was Suraj facing ?

(A) West

(B) East

(C) South

(D) Datais inadequate

X was born on March 6, 1993. The same year
Independence Day was celebrated on Friday. Find
out the birthday of X_

(A) Thursday

(B) Saturday

(C) Friday

D) Wednesday

Promod told Vinod, “Yesterday defeated the only

brother of the daughter of my grandmother.” Whom
did Promod defeat e

(A) Father

(B) Son

(C) Father-in-law

(D) Cousin

Ifaperson says, “All our knowledge brings us closer
to ignorance,” he implies :

(A)

B)
©)

Too much we learn, the Jess we know
Too much knowledge leads to ignorance

The more we learn, the more we realize how
little we knowy

D)

Ignorance is the Stepping stone to the
knowledge

Freedom : Slavery :
(A) Trouble:Safety
(B) Trouble : Torture
(C) Independence - Safety
D) Anarchy:Democracy

e o

31.

32,

33

54.

33,

56.

Amnesty Internationa] jg an organization associated

with :

(A) Environment

(B) Internationa] trade

(C) Human tights

(D) Cultural heritage

Which of the following products from Kashmir has

been granted Geographical Indication (GI) status in

20192

(A)  Pashming

®B)  Kani Shaw;

(C) Hand Knotted Carpet

(D) Saffron

Rio Declaration relates to :

(A) United Nations Women Convention

B) World Trade Organisation

(C) United Nations Human Rights

(D) Environment ang Development

The legal term “Easement” means -

(A) Right which an owner of land has over land of
another person

(B) Right which anowner of land has over hjg own
land

(€) A reputation of business, which attracts
customers

(D) All ofthe above

The legal maxim “pro tempore” means -

(A) Temperament of aperson

(B) Forall times to come

(C) Head ofthe State ona foreign visit

(D) Forthetime being

Which provision of the Constitution ofIndia abolished

the practice of untouchability ?

(A)  Article20

B) Article 19

(©) Article 18

D) Atrticle 17



57. To shift from Police State to Welfare State, India

59. Which of the following terms means “under
borrowed the Directive Principles of State Policy

consideration of a court of law P2

from the Constitution of : _

(A) USA (A)  Sine qua non

(B) Canada B) Res judicata

(C) Ireland (C) Double Jeopardy
(D) None ofthe above ©) Sub judice

8. In2018, the Supreme Court declared Section 497 60. UNDP stands for -
of the Indian Penal Code as unconstitutional and

A) United Nations De artmental Programme
struck it down. Section 497 dealt with : *) p =

(A) Unnatural offence (B) United Nations Democratic Programme
(B) Attempted suicide (C) United Nations Dispute Settlement Programme
(C) Abetment of suicide (D) United Nations Development Programme
(D) Adultery
'
'
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1. lam facing south. Now | turn in an anti-clockwise
direction through an angle of 135°. Then [ take an
about turn and turn through an angle of 45° tomy
right. Which direction I am facing now ?

(A) East

(B) West

(C) North

(D) South

The age of aman is 3 times that of his son. Fifieen

sl

years ago, the man was 9 times as old as his son.
What will be the age of the man after 15 years ?
(A) 45 years

(B) 60 years

(C) 75 years

(D) 65 years

(Questions 6-10) : Read the given passage and answer
the questions.

When the billion strong poor have no political
freedom to agitate for prime needs, when despair drives
chunks of people to turn militant in defence of their right
to live with dignity. the State, controlled by the
proprietariat, would seek to suppress the proletariat by
arbitrary laws. Another line adopted is to release police
terror, regardless of human rights legality. Institutional
protection of victims of State violence 1s often inadequate
and repressive organs and violent gangs revel in assault
on people’s rights. Civilian'morale slumps when the State
itself takes sides. And courts look unperturbed at the
harsh laws, however undemocratic or desputicJ they be
and basic freedoms become judicial casualty. The TADA,

3.  Aand B are young onesof C, If C is the father of the MISA, the Emergency Laws etc. on which [ will dwell

A but B is not the son of C. How are B and C

related ?

(A) Nieceand Uncle

(B) Daughter and mother

(C) Daughter and Father

{D) Son-in Law and Father-in-Law
(Questions 4-5) : In each of the following questions,
there is a certain relationship between the two given
words on one side of : Choose the most suitable word
to be put on the other side from the given alternatives.
4. Action: Reaction

(A) Introvert: Extrovert

(B) Assail ; Defend

(C) Diseased : Treatment

(D) Death: Rebirth
5.  Plaintift: Defendant

(A) Court:Law

(B) Victim :Accused

(C) Judge : Jury

(D) Husband : Wife

HFO-20618-D ; 2

later, are cases where lachrymations about breaches of
human rights have found poor response and even brutal
violations pass judicial scrutiny.
6. Choose the word or words which mean
“Proletariat”.
(A) The pro-government people
(B) The working class
(C) Toletout
(D) None of the above
7. Choose the word or words which mean
“Proprietariat”.
(A) Therichclass
(B) The pro-government people
(C) Toown
(D) None of the above
8. “Repressive” in this passage means :
(A) To pressagain
(B) Tosay again
(C) To keepunder control
(D) To keep pressed

bkt



10.

11.

12,

13.

14,

15.

4

What has not found proper handling by judges ?  16.

(A) Theill-treatment to victims of Human Rights

= violations

(B) Theill-treatment to officers in serious cases

(C) Theuse ofaction in jails

(D) The ill-treatment to accused in custody in
Serious cases

Lachrymations menas : 17.

(A) Symptoms

(B) Secretion of tears
(C) Lacquer

(D) None ofthe above
What is plea bargaining ?

(A) A procedure by which a defendant pleads 1§

guilty in exchange for a lesser sentence

A conference between opposing lawyers to
settle claim

A conference between opposing lawyers and
judge to determine the time a case should be
heard

A conference between the parties to settle g
their claim outside the court

A Muslim man under personal laws cannot marry :
(A) Alew

(B) A Christian

(C) Anidolatress

(D) All ofthe above

Tribal people were referred to as “Adivasis” for
the first time by :

(A) M.K.Gandhi

(B) B.R.Ambedkar

(C) Vinoba Bhave

(D) Vallabhbhai Patel

What is the meaning of chattel ?

{A) Any property

(B) Immovable property

(C) Cattle

(D) Movable property

Which of the following is not included within the
meaning of intellectual property ?

{A) Patents

(B). Trade Mark

(C) Shares

(D) Geographical Indications

(B)

(C)

(D)

HFO-20618-D 3
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213

In law, a man is presumed to be dead if he is not
heard of as alive for:

(A) 5 years

(B) 6 years

(C) 7 years

(D) 8 years

An Act of Parliament is called :

(A) Bil

(B) Legislation

(C) Public Policy

(D) Statute

Which was the first country to abolish capital
punishment ? .

(A) USA

(B) Australia

(C) Netherlands

(D) Venezuela

LN “Right to Information” isa:

(A) Constitutional Right

(B) Statutory Right

(C) Fundamental Right

(D) Contractual Right

Which of the following legislations regulates
electronic commerce ?

(A) Copyright Act, 1957

(B) Trade Marks Act, 1999

(C) The Indian Contract Act, 1872

(D) The Information Technolugy Act, 2000
Which Nawab of Bengal rightly said about English
trade: “It is like a hive of bees whose honey you
might reap the benefit, but if you disturb them, they
will sting you to death™ ?

(A) Murshid Quli Khan

(B) Shuja-ud-din

(C) Alivardi Khan

(D) Siraj-ud-daullah

[Turn over



24.

25.

26.

27,

Which among the following Viceroys was 28.

associated with the “[lbert Bill Controversy ?
(A) Lord Curzon

(B) Lord Lytton

(C) Lord Ripon

(D) Lord Hardinge 29.

Who was the Viceroy when the Simon Commission
visited India ?

(A) Chelmsford

(B) Reading

(C) Irwin 30.

(D) Wellington

The Bardoli Satyagraha was conducted under the
leadership of :

{A) Vinoba Bhave

(B) Sardar Vallabhbhai Patel

(C) Jawaharlal Nehru

(D) C.Rajagopalchari

The capital of India was shifted to Delhi durlng the

reign of : 31.

(A) Minto

(B) Chelmsford

(C) Curzon

(D) Hardinge

Economic justice as one of the objectives of the 54
Indian Constitution, has been provided in the :

(A) Preamble and Fundamental Rights

(B)
(C)
(D)

Preamble and Directive Principles

Fundamental Rights and Directive Principles
Preamble, Fundamental Rights and Directive
Principles

In Indian polity, the ultimate sovereignty rests with

the : 13
(A) President

(B) People

(C) Parliament

(D) Constitution

HFO-20618-D 4
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The Eighth Schedule of the Constitution deals with :
(A) The list of regional languages 7

(B) Fundamental duties

(C) Directive Principles of State Policy

(D) All of the above

A British citizen staying in India cannot claim
right to :

(A) Freedom of speech and expression

(B) Equality before law

(C) Protection of Life and Personal liberty

(D) Freedom ofreligion

Point out the powers enjoyed by the President but
not available to the Governor :

(i) Diplomatic powers

(ii) Pardoning death sentence

(i) Veto power over the State legislature

(iv) Military powers

(A) (i)and (iv})

(B) (ii)and (iii)

(C) (i), (ii)and (iii)

(D) (i), (i1)and (iv)

“World Development Report”
publication of ;

(A) UNDP

(B) IBRD

(C) WTO

(D) IMF

is an annual

. A favourable balance of trade means :

(A) Anexcess of merchandise exports and other
current credit over merchandise imports and
other current debits

An excess of merchandise exports over
merchandise imports

An excess of the value of total imports over
the value of total exports

All of the above

(B)
(C)

(D)

. The SEBI stands for the :

(A) State Earnings Board of India

(B ) Securities and Exchange Bank of India
(C) Securities and Exchange Board of India
(D) State Exchange Bank of India



34.

36.

37

38.

39.

40.

The banks are required to maintain a certain ratio 4],

between the cash in hand and total assets. This is

“talled ;

(A) Statutory Bank Ratio (SBR)
(B) Statutory Liquid Ratio (SLR)

(C) Central Bank Reserve (CBR) 42,

(D) Central Liquid Reserve (CLR)

. The World Trade Organisation replaced :

(A) UNCTAD
(B) UNIDO

(C) GATS 43.

(D) .GATT

What is a tornado ?

(A) A very high pressure centre

(B) A very low pressure centre

(C) A very high ocean wave

(D) A planetary wind

Dew is caused by :

(A) Humid air condenses on cool surface

(B) The airis colder over the earth’s surface 45,

(C) The sky is overcast at night

(D) The wind is too dry to cause rainfall

Which soil swells when wet and develops cracks
when dry 7

(A) Allavial

(B) Red

(C) Black

(D) Laterite

In respect of which of the following crops the Green
Revolution in India had limited impact ?

(A) Maize 47,

(B) Wheat

(C) Rice

(D) Pulses

Which animal has been declared the National
Aquatic Animal of India ?

(A) Ridley’s Turtle

(B) Blue Whale

(C) Ghariyal

(D) Ganga Dolphin

HFO-20618-D S
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44,

46.

48.

The Raman Effect is used in the study of :
(A) X-rays

(B) Cells

(C) Chromosomes

(D) Molecular energy

The source of sun’s energy is :
(A) Nuclear fission

(B) MNuclear fusion

(C) Sinking of the sun

(D) NMone of the above

Sounds cannot travel through :
(A) Vacuum

(B) Hydrogen gas

(C) Water

(D) Steel .

The red rust of tea is caused by :
(A) A bacterium

(B) Fungus

(C) Liverwort

(D) Fern

Some plants develop fruits without fertilization. This
phenomenon is called :

(A) Apocarpy

(B) Apogamy

(C) Parthenocarpy

(D) Syncarpy

Which one is the first web browser invented in
1990 ?

(A) Internet Explorer

(B) Mosaic

(C) Mozlla

(D) Nexus

Which programming language is exclusively used
for artificial intelligence 7

(A) C

(B) Java

(C) J2EE

(D) Prolog

Firewall in computer is used for :
{A) Security

(B) Data transmission

(C) Authentication

(D) Monitoring

[Turn over



49,

50.

51.

52.

53.

54.

Which of the following < not an operating system RS

(A) DOS

(B) €

(C) Mac

(D) Linux

1024 bit is equal to how many bytes ?

(A) 10Bytes

(B) 128 Bytes

(C) 32 Bytes

(D) 64 Bytes

Which country has announced 2019 as the *“Year

of Active Investment and Social Development” in

backdrop of wider business with India ?

(A) Kyrgyzstan

(B) Tajikistan

(C) Turkmenistan

(D) Uzbekistan

Who has become the first-ever bowler in T20

history to pick 4 wickets in 4 balls ?

(A) Lasith Malinga

(B) Rashid Khan

(C) Jasprit Bumrah

(D) Kuldeep Yadav

What is the theme of 2019 World Day of Social

Justice ?

(A) preventing conflict and sustaining peace
through decent work

(B) Promote global
eradication

(C) Ifyou want peace and development, work
for social justice

justice and poverty

(D) Ajust {ransition- envimnmemall:,r sustainable
economies and societies

Which country has decided to include Hindi as the

third official language in courts ¥

(A) Iran

(B) UAE

(C) Saudi Arabia

(D) Oman

HFO-20618-D 6
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56.

57.

58.

Do

“Gampriti 20197 s the joint military exercise of India
and which country ?

(A) Bhutan

(B) Myanmar

(C) Iran

(D) Bangladesh

Who authored the book “Law, Justice and Judicial
Power- Justice P N. Bhagwati’s Approach” 2
(A) Mool Chand Sharma

(B) Rupinder Singh Suri

(C) Shashi Tharoor

(D) Soli Sorabjee

The first Indian movie submitied for (Qscar was
(A) Guide

(B) Madhumati

(C) Amrapall

(D) Mother India

Satyajit Ray was associated with :

(A) Theatre

(B) Painting

(C) Filmmaking
(D) Dance

Who among the following 18 regarded
revolutionary poet acting as an agent of s
transformation .

(A) Mirza Ghalib

(B) MirTaqi Mir

(C) Faiz Ahmad Faiz

(D) Majrooh Sultanpuri

60. The book “Kashmir: A Disputed Legacy™ h:

written by

(A) Alastair Lamb

(B) AG Noorani

(C) Prem Nath Bazaz
(D) Christopher Snedden



A court order that commands an individual or a -
government official who has restrained another to
produce the prisoner ata designated time and place

so that the court can determine the legality of
custody :

(A) Prohibition

(B) Quo Warranto

(C) Certiorari ‘ 8.
(D) Habeas Corpus

Which of the following statements is correct ?

(A) A company can be held liable for
environmental pollution

(B) A department of the government can be held
liable for environmental pollution

9
(C) An individual can be held liable for
environmental pollution

(D) All of the above

Ab initio means :

(A) From the very beginning
(B) Null and void

(C) Attheend

(D) Binding in nature

Suo moto means :

10.

(A) On its own motion

(B) On the motion of others
(C) Both (A) and (B)

(D) None of the above

In India, right to privacy is a :
(A) Statutory right

(B) Fundamental right

(C) Unenforceable right

(D) Moral right

The report of the Justice Sarkaria Commission
pertained to : :

(A) Status of minorities in India

(B) Teaching fundamental duties to citizens
(C) Giving legal aid

(D) Centre-State relations

11.

FDM-2583-D 2

Which of the following is not a form of Intellectual
Property ?

(A) Patent

(B) Trade Mark

(C) Copyright

(D) Real estate

Which of the following is a registered
Geographical Indication ? :

(A) Kashmiri Pashmina
(B) Kashmiri Wazwan
(C) Kashmiri Pinjrakari
(D) Kashmiri Kangri

Right to personal liberty is guaranteed under
of the Constitution of India. :

(A) Article 21
(B) Article 14
(C) Article 19
(D) Article 15

A formal charge or accusation of a crime is
called :

(A) Indictment

(B) Acquittal

(C) Abetment

(D) None of the above

All bats are keys.
All locks are keys.

Statements :

No keys are doors.
Conclusions : I.  Some bats are locks.

II. No door is key.

IMI. No locks are doors.

IV. Some doors are not keys.
(A) Only L I and IV follow
(B) Only II, Il and IV follow
(C) OnlyIandIV follow

(D) None follows



12.

13.

14.

15.

16.

FDM-2583-D

Conclusions : I.

Statements :  No room is green.

Some windows are green.:

All fans are rooms.

Some windows are fans.
Il. Some windows are rooms.
1L
IV. No green is fan.

(A) OnlyIandIV follow

(B) Only III and IV follow

(C) Only III follows

(D) Only IV follows

“Mountain” is related to “Valley” in the same way
as “Enemy” is related to :

(A) Cruel

(B) Stranger

(C) Country

(D) Friend

“Orange” is to “Peel” as “Tooth” is to :
(A) Gums

(B) Clone

(C) Enamel

(D) Jaw

Some fans are green.

33946 is coded as PPOAL and 1987 as ROSE. 19.-

How is 94678 coded ?
(A) ROSEP

(B) OALES

(C) POALE

(D) OSEPLS

Insect : Disease : : War : ?
(A) Army

(B) Destruction

(C) Defeat

(D) Arsenal

i

18.

20.

Statement: No man is mortal.
Conclusions: 1.  All mortality is for mankind.

II.  Some of the immortal beings
- are men. :

Some of the mortal beings are
men.

All of the above.

III.

Iv.
(A) Only I follows
(B) OnlyIand II follow
(C) Only II follows
(D) IV follows

Statement :  US will begin military exercise
against North Korea.

Conclusions : I.  Atleasta part of North Korea
will not witness the exercise.

II. Most of the North Korean
cities will see the military
exercise. :

Few North Korean cities will
witness the exercise.

None of the North Korean
cities will escape the
consequences.

(A) Only I and II follow
(B) Onlyl II and IV follow
(C) Only Il and IV follow
(D) Only II follows

Pick out the word that does not fit in with the
others ;

(A) Peso

(B) Dinar

(©) Europe

(D) Euro

Find the odd one in the following which does not
fit in the group :

(A) Cheese

(B) Cardamom

(C) Black Pepper

(D) Cinnamon

118

IV.

[Turn over



21;

27

25,

24.

2o

26.

Who were the leaders of the Khilafat Movement 217.

in India ?

(A) Showkat Ali

(B) Mohamméd Ali

(C) Maulana Azad

(D) All of the above . 28

The Durand Commission was appointed to define
the line between :

(A) British India and Afghanistan
(B) India and Pakistan

(C) India and China

(D) India and Myanmar

Who was the Viceroy of India when the Rowlatt
Act of 1919 was passed ?

(A) Lord Mayo

(B) Lord Chelmsford
(C) Lord Canning’
(D) Lord Ripon

The title of Vikramaditya was bestowed upon

(A) Chandragupta I
(B) Chandragupta Il

(C) Kumaragupta ' 31.

(D) Skandagupta

Which river is called China’s sorrow ?

(A) Hwang Ho

(B) Yangtze Kiang

(C) Mekong

(D) Amur

Which is the worlds’s largest lake ?
(A) Lake Superior

(B) Lake Van

(C) Caspian Sea

(D) None of these

FDM-2583-D 4

29.

30.

32.

Which of these is not a part of Balkan States ?
(A) Serbia ¥

(B) Greece

(C) Bosnia

(D) Denmark

. Agriculture in India is associated with which type
" of unemployment ?

(A) Frictional unemployment

(B) Cyclical unemployment

(C) Disguised unemployment

(D) Structural unemployment

The “cafeteria approach’ is associated with :
(A) Family planning

(B) Urban development

(C) Industrial development

(D) None of these

Who was the first governor of the RBI ?

-(A) C.D. Deshmukh

(B) Morris D. Morris
(C) Sir Osborne Smith
(D) Prof. K.V. Rao

Which Constitutional amendment gave
Constitutional status to Panchayati Raj in India ?

(A) 73" Amendment
(B) 74" Amendment
(C) 42" Amendment
(D) 81 Amendment

Which article of the Constitution of India
guarantees the Freedom of Press ?

(A) Article 21
(B) Article 19

(C) Article 14

(D) Atticle 15



33. On the recommendations of which Committee

were Fundamental Duties incorporated in the
Constitution of India ?

(A) Swarn Singh Committee
(B) Punchii Commission
(C) Sarkaria Commission
(D) None of these

Which Indian Bank has won the 2017 Golden
Peacock Innovative Product/Service Award ?

(A) State Bank of India

(B) HDFC Bank

(C) Yes Bank

(D) Axis Bank

Who is the winner of the Man Booker Prize
2017 ?

(A) George Saunders

(B) Emily Fridlund

(C) Mohsin Hamid

(D) Paul Auster

In which country was a new Constitution adopted
on 8" August 2017 ?

(A) Peru

(B) Ghana

(C) Venezuala

(D) Brazil

Who is the winner of Wimbledon Championship
2017 ?

(A) Roger Federer

(B) Andy Murray

(C) Novak Djokovic

(D) Milos Raonic

Who is the author of ‘Ministry of Utmost
Happiness’ ?

(A) Arundhati Roy

(B) Khushwant Singh

(C) M.J. Akbar

(D) Chetan Bhagat

34.

3

36.

37.

38.
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39. The red rust of tea is caused by :
(A) A bacterium

(B) Fungus

(C) Green alga

(D) Virus

Bharal is :

(A) A goat

(B) A sheep

(C) Abull

(D) A wild dog

Directions (Questions 41-44) : Read the following
passage and answer the questions given below it :

The capitalist system of society does not foster healthy
relations among human beings. A few people owe all
the means of production and others-though nominally
few have to sell their labour under conditions imposed
upon them. The emphasis of capitalism being on the
supreme importance of material with the intensity of
its appeal is to the acquisitive intensity. It promotes
worship of economic power with little regard to the
means employed for its acquisition and the end that it
serves. By its exploitation of human beings to the limits
of endurance its concentration is on the largest profit
rather than maximum production. Thus the division of
human family is done on the basis of economic
circumstance. All this is injurious to division of human
dignity. And when the harrowed poor turn to the
founders of religion for succor, they rather offer a subtle
defense of the established order. They promise future
happiness for their present suffering and conjure up
visions of paradise to redress the balance, the religion
justifies it.

41.

40.

The established order is supported by religion to :
(A) Alleviate the suffering of the poor in the
capitalist system
(B) Perpetuate the injustice imposed by the
capitalist system
(C) Balance the suffering of the poor with hopes
of future rewards

D)

Help the tortured men to seek redress

[Turn over



42.

43.

45.

46.

47.

FDM-2583-D

In a capitalist system :
(A) The means justify the ends
(B) The ends justify the means

(C) The means endorsed by religion are strictly
followed

(D) Means which lead to exploitation are strictly
prohibited

Capitalism is injurious to human relations because 49-

it divides society into two groups, i.e. :
(A) Working and non-working

(B) Exploiters and exploited

(C) Religious and irreligious

(D) Buyers and sellers

In a capitalist system of society, each man 50

wishes :

(A) To acquire maximum wealth

(B) To produce maximum wealth

(C) To have vision of paradise

(D) To soothe the sufferings of others

Choose the word analogous or nearest in meaning
to “Dialectic” :

(A) Constructive

(B) Instructive

(C) Argumentative

(D) Destructive

The Roman Numeral for 100 is :

(A) XCIX ;

B) XC

(C) XCIV

D) C

Ten men finish a piece of work in 10 days. How

many men are needed to finish the work in one
day ?

(A) 10
(B) 25
(C) 50
(D) 100

48.

51.

2.

Complete the series :

112, 111, 119, 92, 156, 31, ?
(A) 245 .

(B) 247

(C) 241

(D) 249

Find the missing number :
3,5,15,7,1125, 84375

A) 75

(B) 20

©) 45

D) 80

Which number replaces the question mark ?

10

8 13
16 | 6
4 19
220 %

A) 11

B) 17

©) 3

D) 2

Sine a die means :

(A) After setting a fixed day
(B) Before setting a fixed day
(C) Without setting a fixed day
(D) All of the above

Uterine blood refers to :

(A) Born of the same mother, but not of the same
father

(B) Born of the same father, but not of the same
mother

(C) Born of the same father and the same mother
(D) All of the above



53. A promise by the seller to repair goods during the 58. Legitimate means :
specified period is known as : '

(A) Correct
(A) Guarantee B) Rightful
) Wy (C) Possessive
(C) Indemnity (D) Lawful

(D) Security 59. De jure refers to :

(A) Here and there
- (B) As per law
(C) Small details
(D) At the same place

54, ‘Special Law’ in India refers to :
(A) Which is enacted by the Parliament only
(B) Which is applicable to a particular subject
(C) Which is applicable to a particular region

(D) Which is applicable to government servants

60. The term “Homicide” in law means :
only

(A) Accidental death in shipwreck
(B) Killing of a human being by wild animal

55. Law of Contract deals with :

- (A) Laws of ownership and transfer of movable

and immovable property for consideration (C) Committing of suicide by a human being
(B) Partition of co-owned property- (D) Ki_lling of one human being by another human
(C) Enforcement of obligations arising from being :

agreements
(D) Taxation

56. “Law is an ass” was said by :
"~ (A) Karl Mark
(B) Charles Dickens
(C) John Lock
. (D) Thomas Hobb

~ 57. Naz Foundation case decided by Delhi High Court
related to :

(A) Section 377 IPC

(B) Section 498A IPC
(C) Section 304B IPC
(D) Section 145AIPC

FDM-2583-D 7
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admission.

9. Do not make any stray mark on the OMR sheet.
10. Calculators and mobiles shall not be permitted inside the examination hall.
11. Rough work, if any, should be done on the blank sheets provided with the question booklet.

12. OMR Answer sheet must be handled carefully and it should not be folded or mutilated in which case it will not
be evaluated. -

13. Ensure that your OMR Answer Sheet has been signed by the Invigilator and the candidate himself/herself.

14. At the end of the examination, hand over the OMR Answer Sheet to the invigilator who will firsttear off the
original OMR sheet in presence of the Candidate and hand over the Candidate’s Copy to the candidate.
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When a person is prosecuted for committing a criminal 8.

offence, the burden of proof is on:
(A)  Himself

(B) Prosecution
(C) Court

(D) Police

Who is the Chairperson of the 20* Law Cormmission
of India? '

(A) Justice P.V. Reddy

(B) Justite A.R. Lakshmanan

(C) Justice D.K. Jain

(D) Justice A.P. Shah

Ignorance of law is:

(A) Excused

(B) Notexcused

(C) Many times excused

(D) Allof the above

Which Commission was appointed to look into the
cause of death of S. C. Bose?

(A) Nanavati-Mehata Commission

' (B) Nanavati Commission

(Q) Pl Phukan Commission

(D) Mukherjee Commission

F.LR. stands for:

(A) Final Investigation Report

(B)  FirstInvestigation Report

(C) FirstIncident Report

(D) First Information Report. :

The act of unlawfully entering into another’s property
constitutes:

" (A) Trespass

(B) Restraint

(C) Appropriation

(D) Encroachment

The Constitution of Jammu and Kashmir came into
force on:

(A) 26" January, 1957

(B) 26 November, 946

(C) 26" January, 1950

(D) 15" August, 1947

DAJ-13842-B
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Under which provision of the Constitutio‘n, the

Governor Rule was imposed in Jammu and Kashmir

on January 9 2015?

(A) Article 356 of the Constitution of India '

(B) Section 92 of the Constitution of Jammu and
~ ‘Kashmir

(C)  Section 356 of the Constitution of Jammu and

Kashmir:

(D) Article 370 of the Consitution

Which of the following international organisations deals
with “Refugees”™?
(A) UNESCO

(B) UNICEF

(C) UNHCR
(D) UNCTAD

WTQ is the successor of:

(A) NAM
(B) IMF
(C) GATS

(D) GATT

The term “Genocide” in law means:

(A)« Mass killing of animals by human beings

(B) Masskilling of birds by the archery

(C)  Death of human beings due to natural calamity
(1)) None of the abové

Defamation infringes a person’s right to:

(A) Reputation

(B) Pride

(C) Privilege

(D) Status

The 8 BRICS Summit was held in:
(A) SriLanka '

(B) Russia ;

{C) China

() India
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14. Who among the following personalities has been
awarded the 2016 Nobel Prize in Literature?
(A) OliverHart
(B) Holmstorm
(C) J M Santos
(D) BobDylan
15. With which country India signed a civil nuclear
cooperatibp agreement on 9 December 20167
(A) Viemam =
(B) Malaysia
(C) China
(D) Japan ;
16. 'Who was declared as the ICC Cricketer of the year
2016? ‘
(A) ViratKohli
(B) Ravichandran Ashwin
(C) Quinton de Kock
(D) Carlos Brathwaite
Who amongst the following is nota lyricjst?
(A) Gulzar : =
(B) Majrooh Sultanpuri
(C) KaifiAzmi
(D) K.L.Saigal .
18. The book “A Brief History of Seven Killings” is written
by:
(A) Albert Speer
(B) “H.B.Stove
(C) Marlon James
(D) Irving Sione '
19. The official language of Jammu and Kashmir is:
(A) - Hindi '
(B) English
(C) Urdu
(D) Kashmiri
DAJ-13842-B
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24.
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D)

The Hunter Commission was appointed by the British
to probe into the:

(A) Bardoli Satyagraha

(B) Khilafat agitation

(C) Jallianwala Bagh tragedy

D)

Some of the regional bases of militant nationalism are

Chauri Chaura incident

given below. Find the odd one out:

(A) Gujarat

(B) Punjab

(C) Bengal

(D) Maharashtra

Which one of the following revenue items was collected

only in cash under the Mauryas?

(A) Hiranya
(B) Kara
(C) Bhaga
(D) Pranaya

The authorisation for the withdrawal of funds from
the Consolidated Fund of India must come from:

(A) The President of India

(B) The Parliament of India

(C) ThePrime Minister of India

(D) The Union Finance Minister |
The National Commission for Scheduled Tribes was
set up in: :

A) 2002
(B) 2003
(C) 2004
(D) 2005
Diphtheria is a disease affecting:
(A) Eyes
(B) Throat
(C) Liver
Pancreas
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26.

Cotton fibre is obtained from:
(A) Stem
(B) Leaf
(C)  Fruit
(D) Seed
27. The smallest living cell is that of a:
(A) Bacterium
(B) Bread mold
(© Mycoplasma
(D) Virus
28. NAFTA stands for: _
(A) North-African Free-Trade Agreement
(B) North-African Free-Technology Agreement
(C) North-American Free-Technology Agreement
(D) North-American Free-Trade Agreement
29. Which year is known as “Year of the Great Divide”
with regard to the population growtﬁ in India?
A T
B) 1947
© 1951
(D) 1920 ;
30. The country which had the first official family planning
programme was: '
(A) USA
®) India
(C) China
(D) Sweden
31. The phrase “cloud computing” means:
(A) Delivery of hosted services over the Internet
(B) Study of clouds to predict rains and
thunderstorms
(C) Study of conditions of clouds for cloud seeding
(D) Use of differeht software for financial
accdunting
DAJ-13842-B
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A feature “Bluetooth” now common in mobile phones,

gets its name from a:

(A) Chinese 10™ Century King

(B) UK Software Company

(C) Greek goddess

(D) Danish 10* Century King

Where is the’Maikal Range situated? -

(A) Rajasthan

(B) Jammu and Kashmir

(C) Chhattisgarh

(D) - Tamil Nadu

Through which States does the river Chambal flow?
(A) UP, MP, Rajasthan

(B) MP, Gujarat, UP

(C) Rajasthan, MP, Bihar

(D) Gujarat, MP, Chhattisgarh

One of the following States through which the Tropic
of Cancer passes is: -

(A) Jammu and Kashmir

(B) Himachal Pradesh

(C) Bihar

(D) Jharkhand

Directions (Q. Nos. 36 to 40): Read the given passage
carefully and attempt the questions that follow and
shade the appropriate answer in the space provided for
it on the OMR answer sheet. '

It is an old saying that knowledge is power. Education
is an instrument which imparts knowledge and,
therefore, indirectly controls power. Therefore, ever
since the dawn of our civilisation, persons in power
have always tried to supervise or control education. It
has been handmaid of the ruling class. During the
Christian era, the ecclesiastics controlled the institution
of education and diffused among the people the gospel
of the Bible and religious teachings. These gospels
and teachings were no other than a philosophy for the
maintenance of the existing society. It taught the poor
man to be meek and to earn his bread with the sweat
of his brow, while the priests and the landlords lived



36.

37

in luxury and fought duels for the slightest offence.
During the Renaissance, education passed more from
the clutches of the priest into the hands of the prince.
In other words, it became more secular. Under the
control of the monarch, education began to devise
and preach the infallibility of its masters, the monarch
or king. It also invented and supported theories like

“The Divine Right Theory” and that the king can do

no wrong, etc. With the advent of the industrial
revolution, education took a different turn and had to

please the new masters. It'now no longer remained

the privilege of the baron class, but was thrown open-

to the new rich merchant class of the society. During
this perxod the function of the state was restricted to
a mere maintenance of law and order while on the

other hand, in practice the law of the jungle prevailed

. in the form of free competition and the survival of the

fittest.

What does the theory “Divine Right of King” stipulate?

(A) The kings are God

(B) The right of gove’ming is conferred upon the
kings by God

(C) Thekings have theright to be worshlpped like
Gods by their subjects

(D) The rights of kings are divine and therefore
sacred.

" Who controlled the institution of education during the

Christian era?

(A) The secular leaders of society
(B) The Church and the priests
(C) The monarchs

®) The common people

38.  What does the word “infallibility” mean?
(A) Thatevery man is open to error
(B) Sensitivity
(C) The virtue of not making mistake
(D) That some divine power is responsible for
determining the fate of the Man
DAJ-13842-B
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Choose the correct synonym of “Gospels”:

(A) Chitchat

(B) A teaching or doctrine of a religion
(C) Rumour

(D) Guidance

Which of the following describes the writer?
(A) Unconcerned

B) Aégressive

(C) Frustrated

(D) Concerned
When a number is divided by 4, the quotient is 28,

what is the number?

A 12 B) 46

(C) 86 D) 96

If the diameter of a circle is increased by 100%, its
area is increased by:

A) 100% (B)  200%

(©) 300% D) 400%

If A is 80% of B, what percent of A is B?

@ 90 ® 1111

(©) 141 @Oy 125

What is the least number which when divided by 8, 9,
12 and 15 leaves the same remainder 1 in each case?
(A) 361 B) 181

©) 359 ®) 179

Peter haS some apples. He sold 40% more than he ate. If
he sold 70 a;;ples, how many did he eat?

A 50 “B) 90

€ 18 D). 42

Statements: Some flowers are fruits. Some flowers
~ are chocolates. :

Conclusions:

I.  Noflower is achocolate.

II.  Allfruits are chocolates.
III. Some chocolates are flowers.
IV. No fruits are flowers.

(A) OnlyIfollows

(B) ' Either Lor Il follows
(C) EitherllorIV follows
(D) None follows

[Turn over
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32

53%
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If “Apple” is called “Orange”, Orange” is called
“peach”, “Peach” is called “Potato”, “Potato” is called
“Banana”, “Banana” is called “Papaya”, “Papaya” is
called “Guava”, which of the following grows

underground?

(A) Potato

B) Guava

© Apple

(D) Banana

Which of the following does not belong to the group?
() Gold " 5

B) Silver

(C) Brass

(D) Lead

Plato said “that government is the best government

which governs least”. What does this statement

contradict from among the following statements?

(A) Good governance means no governance

(B) Anable government legislates on every aspect
of citizen’s life

(C) A good governance is more liberal

(D) A citizen enjoys only rights but not duties

Clouds: Rain as

(A) Wind: Hurricane

(B)  Thunder: Lightning

(© Water: H,O

(D) Sky: Universe

Which of the following pairs is unlike the others?

(A) Life-death

(B) Odour-smell

(C) Sharp-blunt

(D) Music-noise ‘
Singing is to Speaking as poetry is to:
(A) Music

(B) Drama

(C) Prose

(D) Rhyme

Ab initio means:

(A)  From olden times

(B) Byorfroman unwilling party
(©) Fromthe very beginning
(D) Unable toact

54.

55.

'56.

il

58.

59.

60.

- ©

@

Prima facie means:
(GY)
(B)

On the first view
In the first place

- (C) Faceisthe index of mind

® It is prdved
The phrase written statement means:
@ A pleading filed by the plaintiff in a suit

(B) A pleading filed by the defendant in a suit
(C) Both(A)and(B)
(D) A statement made before police

What does the policy of “Laissez Faire” stand for?

)

(B) State control over law and order in society

©

Individual freedom in the economic field

Joint control of the means of production by the
State and private enterprise

(D) Decontrol over law and order by the ruling class
Vicarious liability means:

(A) Liability of a master for the acts of his servant
(B) Liability of a person for the acts of another
Both (A) and (B)

(D) Liability of a person for his own acts

Which of the following has been dectared and enacted
as a new offence under Indian Penal Code?

(A) Acidattack

(B) Homosexuality

(C) - Mercykilling

(D) Honourkilling -

The “Right to Information” is-a:
Constitutional Right

(B) LegalRight

(C) Fundamental Right

(D) Contractual Right
Theft is an offence relating to:

(A) Movable property only

(B) Immovable property only

(C) Bothmovable and immovable property
(D) Cashand ornaments only -
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The highest literacy rate in India s in the State of :
(A) Tamil Nadu (B) Maharashtra

LL.B. (Three Year)/A

(C) Kerala (D) Jammu & Kashmir

The first Chief Justice of India was :
(A) M. Patanjali Sastri (B) Harilal-J-Ka

1a

(C) Mehr Chand Mahajan (D) B.K.Mukherjea

The first Asian to have received Nobel Prize was -

(A) AmartyaSen (B) Subramanyam Chandra Shekhar

(C) Rabindra Nath Tagore (D) Dr.Abdus S

Who is India’s Minister of Defense ?
(A)  Shri Suresh Prabhu (B) ShriKalraj M

am

ishra

(C) Shri Manohar Prabhu (D) Shri Arun Jaitley

How many members represent J&K in Lok Sabha ?
(A)  Four (B) Six
(C). Five (D) Three

Who is the Licutenant Governor of Delhi ?
(A) General (Retd.)V. K. Singh (B) Dr Jatindra S
(C)  Shri Vishou Deo Sai (D) Shri Najib Jun

On 29% of August 2015 Sania Mirza was awarded :

ngh
12

(A) Khel Ratna (B) PadmaBhushan

(C) Sports Person of the Year (D) Padma Shri

The Electronic Voting Machine (EVM) was put to use in India for
year :
(A) 1982 (B) 1996
(C) 2001 (D) 2005

Ow

the first time in the




9. The Electors Photo Identity Card (EPIC) was started in India in the year :

(A) 1990 B) 1993
(C) 1997 D) 2001

10.  The five year planning was first launched in India in the year :
(A) 1950 (B) 1951
(C) 1960 (D) 1965

I1. The Indian Space Research Organisation (ISRO) is headquartered in :

(A) Sriharikota (B) Bengaluru
(C) Thiruvananthapuram (D) Pondicherr

b

12.  The Chairperson of the State Women’s Commission in J&K is :
(A) Mehbooba Mufti (B) Shamima Firdous
(C) Nacma Mehjoor (D) Mehmuda Banu

13. Who was the first Indian woman boxer to get gold medal in the Asian Games 2014

at Incheon, South Korea ?
(A) SaniaNehwal (B) Mary Kom

(C) P.T.Usha (D) None of'the above

14. 45" International Film Festival (IFFI) was held in November, 2014 in :

(A) NewDelhi (B) Mumbai
(C) Dubai (D) Goa

15. Mahesh Bhupati is an Indian :

(A) Hockey Player (B) Squash Player

(C) Tennis Player (D) Golfer

16. The present Governor of Reserve Bank of India is :

(A) Raghuram Rajan (B) P.Kesvan
(C) LS. Patel (D) P.Shankaran
CWG-33122-A 3
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17.  The present Chicf Justice of J&K High Court is :

(A) Justice M. M. Kumar (B) Justice N. Paul Vasantha Kumar
(C) Justice AfiabAalam (D) Justice Barin Ghosh

18. Rahul Gandhiis
(A) President of Congress Party
(B)  General Secretary of Congress Party
(C)  Vice-President of Congress Party
(D) Patron of Congress Party

19. The present captain of the Australian Cricket Team is :
(A) Michacl Clarke (B) James Watson
(C) David Warner (D) Steve Smith

20.  'Who among the following Kashmiris was awarded India’s highest literary award
(Gyanpith) ?

(A) Ghulam Nabi Khayal (B) AminKamil

(C) Bhajan Sopori (D) Rehman Rahi

21.  Whatis the mcaning of ‘mitigate’ ?
(A) Easc (B) Imperfect
(C) Cruel (D) Damaged

22. What is the antonym of ‘Fetter’ ?
(A) Liberate (B) Imprison
(C) Scom (D) Traitor

23.  The star restaurant is a regular for them.

=y \™ ) & AWWRLLY

(C) Hazard : (D) Jeopardy

24. lTamtired this work.
(A) with (B) of
(C) by (D) none of these

CWG-33122-A
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25.

Though the law became from 1950, it was not until a decade later

thatany  underthat law was recorded,
(A) Invoked, Crime (B) Enacted, Act
(C) Effective, Brief (D) Operative, Offence

26. Theaverage weight of 10 people sitting on a boat is 70 kg. If one person gets up the
average weight of remaining people is 75 kg. What is the weight of the person who
got up from the boat ?

(A) 25kg _ B) 30kg
(C) 35kg D) 40kg

27.  Find the angle between the minute arm and the hour arm of a clock when the time is
7:20:

(A) 100 ®B) 120

(© 160 ek D) 250
28. Complete the series 2AT AL ey

(A) 15 B) 16

©) 18 D) 20
29. IfD=4, COVER=63, then BASIS=

(A) 54 B) 55

€) 49 D) 50

30. Three friends share the cost of a computer. If Shafi, Manzoor and Reyaz cach paid
Rs. 1200, Rs. 3000 and Rs. 1800 respectively. Then Reyaz paid what percent of the
total cost ?

(A) 10% B) 20%
©) 30% D) 40%

31. Akhter, an insane person’s five year old son was suffering from cpilepsy. A Quack
told him that only cyanide can cure his son. Akhter made his son take cyanide which
resulted in his death. Choose the correct answer from the following :

(A)  Akther will be charged for murder of his son

(B)  Akhter cannot be punished for murder as he was insan

(C)  Akther will not be punished for the murder which he never intended

(D)  Akhter will not be punished as he acted onthe advice of Quack
CWG-33122-A
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32. Rakesh, thedriverofa reputed transport company, molested a woman passenger in
the taxi that he was driving. Choose the correct answer from the following :

(A)  The transport company is liable to the woman as principal for the acts of
its agent

(B)  The transport company is not liable because it had not authorized the driver
to commit such acts

(C) = Thetransport company is not liable as the act was not done by the company

(D)  The transport company is not liable as the wrongful act was not within the
scope of its driver’s duty

33.  The government makes a law which makes it compulsory for all citizens to perform
Surya Namaskar. Is the law valid ?

(A) Thelawis valid asitis non-discriminatory
(B) Thelaw is valid as Surya Namaskar brings solace to mind
(C) Thelawis valid as it is made for all irrespective of religion

(D)  Thelawis invalid because it violates the secular character of the state and
impinges upon the religious freedom of Muslims

34.  Accomplice means;
(A) A person who accompanies another person

(B) A person who is associated with another person in the commission of an
offence

(C) A person who is charged with an offence committed by another

(D)  One who accomplishes a job for another person

35. Accused means :
(A) A person charged with the commission of the crime
(B) A person who is alleged to have committed a crime
{(©)  Apersonwhois guilty of committing a crime

(D) A person who absconds from police

CWG-33122-A
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36. Contract means :

(A)
®
©
D)

37. Capital punishment means :

(A)
®)
©)

D)

An agreement between two persons

An understanding between two persons
A legally binding agreement between two or more partics
An agreement for construction of a buj Iding

Life imprisonment

Dcath sentence

Sentence of death or life imprisonment imposed as a punishment for a
crime

None of the above

38. Undue Influence means :

(A)
B)
©
D)

39.  Immovable property means :

(A)
B)
©)
D)

40. Amicus curiac means :

(A)
B)
©
(D)

CWG-33122-A

Use of superior position against one in an inferior position
Extracting an undue advantage by using one’s superior position
Improper use of power or trust in a way that deprives a

Making of an agreement between two unequal pers

Property which cannot move

[Land and other property attached to it
Fixed things

Nonc of the above

Additional help
Outsidc assistance
Lawyer appointed by a court to represent a poor litigant

[.cgal aid given to poor people

[Turn over
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42.

43.

44,

Bonafide means :
(A) Ingood faith
(C) Intentional

Caveat emptor means :
(A) Sellerisliable to buyer

(C) Blank paper

Delegatus non potest delegare means :

(A) Delegated powers can be sub delegated

(B) Without bias
(ID) Withclear mind

(B) Let the buyer beware
(D) Let the seller beware

(B) A delegatee has to act according to the directions of the delegator

(C) Adclegated power cannot be further delegated

(D)  Any onc of the above

Res ipsa loquitur means :

(A) Things need to be clearly understood

(B) A thing speaks for itself
(C) Factsneedto be asccrtamcgl

yvﬁ@;ﬁ%ad

WAYk

&- / b (A) Mcera Kumari

//

46.

47.

(C) lLeclaBansal

(A) ChicfJustice of India
(C) President

The Jurisdiction of the Supreme Court of India extends to :

(A)  Original Jurisdiction
(C) Advisory Jurisdiction

CWG-33122-A

Irst woma udge/df th(;,K{premc Court of India was :

(B) Mecera Fatima Bevee
(D) None of the above

In India the High Court Judges are appointed by :

(B) Union Law Minister
(ID) Prime Minister

(B) Appellate Jurisdiction
(D) Allofthe above :

8
&
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52,

33.
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The Indian Constitution guarantees Right to Equality under Article :
(A) 21 B) 16
€) 14 M) 15

Preventive Detention means -
(A) Preventing a person from committing a crime

(B) Dctaininga person without warrant

(C) Detaining or restraining a person without trial and c.
grounds of suspicion

(D)  Detaining a person after trial but without conviction

Which one of the following is the oldest High Court of India ?
(A) Madras High Court (B) High Court of Bom bay
(C) Calcutta High Court (D) Allahabad High Court

InaRemote Stellar System there may be a planet with some form of life or other.
How do you evaluate this statement ?

(A) Reasonable (B) Absurd
(C) Absolutcly false (D) Definitcly

Which of the following Judgements is both a crime and sin ?
(A)  Untouchability is an evil (B) Bigamy is undesirable
(C) Murderishighly reprehensible (D) Phone tapping is unacbeptable

Assertion (A): Robert Clive defeated Siraj-ud-Daullah in the b

Reason (R) : Clive’s army was superior and it followed superior military tactics.
(A) Both(A)and (R)are correct and (R)is the correct explanation of (A)
(B) Both(A)and (R) are correct and (R) is not the correct explanation of (A)
(C) (A)iscorrect but (R) is incorrect
(D) (A)isincorrect but (R) is correct

ttle of Plassey .

Qe
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54.

[tis desirable to have only one world government. Choose the correct argument.
(A)  Yes, itwillhelp in eliminating tensions among the nations
(B)  No, then only the developed countries will dominate in the government
(C) Both(A)and (B) above are strong arguments
(D) Neither (A) nor (B) above is strong argument

55.  OnMonday I told my friend that I would start for Calcutta day after tomorrow and
reach there the day before the day that comes after the day aFtcr tomorrow. On
which day would I reach Calcutta ?

(A) Wednesday (B) Thursday

(C) Friday (D) Saturday
56. Find the odd manout :

(A) Square B) Yard

(C) Cube (D) Pint

57. The message on the invitation card states, “The cultural progr#mmc shall start at

7 P.M. sharp. You are requested to take your seats before 7 PM.
Assumptions: |
(A) Ifaninvitee is not in his scat by 7 P.M. the programme shall not start
(B) The programme will start at 7 P.M. even if the invitee has not taken his seat
(C) Thedoors shall be closed at 7 P.M. and the programme shall start
(D) Trytobeontime ‘

58. A certain job was assigned to a group of men to do in 20 days. But 12 men did not
turn up for the job and the remaining men did the job in 32 d ys. What was the
original number of men in the group ?

A) 32 B) 34 T
(C) 36 (D) 38 |

59. Ayub secured 30 marks more in English than what he secured in Chemistry. His
marks in both subjects together totaled 90. How many marks did he get in
Chemistry ? |

(A) 30 B) 40 |
(C) 50 D) 60 |
60. 20%.0f'a number when added to 20 becomes the number itself. Find the number :
(A) 20 B) 25
(C) 50 (D) 80
CWG-33122-A IC()]
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LL.B. 3 Year/A

“KraehKhoteButhuvhsaf‘(Jusﬁceissmﬁwhwmship)isaKnshﬂﬁm}dng
of:

(A) Syed Ali Hamadani (B) Lalded

(C) SheikhNoorudin Vali (D) BabaDaud Khaki

Twenty fifth (25) December is not birthday of :

(A) Jesus Christ (B) Atal Bihari Vajpayee

(€) MohammadAliJinnah (D) Abul KalamAzad
2012 Olympics were held at

(A) London (B) Montreal

(C) Geneva (D) Tokyo

Oldest book on Kashmir history is :
(A) Rajtarangni (B) The Valley of Kashmir
(C) Kashmir; A Disputed Legacy (D) Wagiate Kashmir

The book on state craft Zakhiratul maluk is written by :

(A) Syed Ali Hamadani (B) Gani Kashmiri ;

(C) Mehjoor (D) Sir Mohamad Igbal r.\
Which one of the following is Quranic term for justice ? L~

A) Ade (B) Insaf

(€) Qaza (D) Haq
Jammu and Kashmir Constitution came into force on :

(A) 13July1931 (B) 26 January 1950

(C) 27 October 1947 (D) 26 January 1957

Which one of these States has its own constitution ?
(A) Assam (B) Jammuand Kashmir
(C) Nagaland (D) Uttarakhand
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9. Aatshi Chinar is autobiography of :
(A) Choudry Gulam Abbas (B) Mirwaiz Yousuf Shah
(C) Sheikh Mohamad Abdullah (D) SyedAli Shah Gilani

10. Ranbir Penal Code (RPC) is criminal law of :
(A) India (B) Pakistan
(C) Jammuand Kashmir (D) Nepal

11. Name of “Cease Fire Line’ was changed to ‘Line of Actual Control’ through :
(A)" Tashkent pact (B) ShimlaAgreement
(C) Lahore Declaration (D) UN Resolution

%

12.  Which one of these Articles was described as heart and soul of the Indian Constitution

by Ambedkar ?
(A) Article32 (B) Article21
(C) Article 368 (D) Article 19

13.  Rightto property is a fundamental right in :
(A) Whole of India
(B) Jammuand Kashmir
(C) Whole of India except Jammu and Kashmir

/ ) (D) None ofthe above

" 14, WhichArticle of the Indian Constitution makes directive principles non-enforocable

through courts of Law ?
(A) Article39 (B) Article37
(©) Articleds (D) Article12

15. Which Article of the Indian Constitution allows the state to restrict fundamental rights
in the interest of permanent residents of Jammu and Kashmir ?
(A) Article35A (B) Article 370
(C) Article253 (D) Article256
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18.

19.

20.

21.

22

23.

The word secularism was inserted into Indian Constitution through :
(A) 15" Amendment (B) 25" Amendment
(C) 42 Amendment (D) 44" Amendment

Which one of these groups contributed most to the onset of Arab spring in Egypt ?
(A) Ikwanul -Muslimeen (B) Arab League
(C) Hezbollah (D) Hamas

Who among the following Kashmiri rulers was associated with devastation of temples ?

(A) RajaAwanti Varman (B) Kanisk

(C) GulabSing (D) HarshDev
Doctrine of Pleasure is provided in :

(A) Article310 (B) Article312

(C) Article317 (D) None ofthe above

Constitution of India makes the President :
(A) Almostadictator (B) Abenevolent ruler
(C) Real head of the government (D) A nominal constitutional head

Article 30(1) provides right to establish and administer educational institution to :
(A) Ethnicminorities (B) Religiousand linguistic minorities
(C) Allcitizens of India (D) Toeveryonecitizen or non-<citizen

Which of the following countries doesn’t have a written Constitution ?

(A) UK ®) US
(C) Canada (D) Mexico

A person whose fundamental rights are violated can move to the Supreme Court

directly under Article :
(A) Article21 (B) Article35
(C) Article32 (D) Article 12
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25.

27.

28.

29.

30.

31

- Which part of the Indian Constitution provides civil and political rights ?

A) PartIv ®) Partll
(C) Preamble (D) T*schedule

Directive Principles of State Policy are enshrinedin :
(A) Partllofthe J & K Constitution (B) PartIV ofthe J & K Constitution
(©) PartVofthe] &K Constitution (D) Part VIofthe J & K Constitution

International Court of Justice is located at :
(A) New York (B) Hague
(C) Geneva (D) Rome

The United Nations is successor of :
(A) League of Nations
(B) European Union
(C) Permanent Court of International Justice
(D) Organization of American States

The quorum or minimum number of members required to hold the meeting of either
house of Parliament is : -

(A) Onethird (B) Onehalf

(C) Onetenth (D) Twothird
Human Rights day is celebrated on :

(A) 10®December (B) 10" March

(C) 10* October (D) 27* October

Mﬁchmongﬂwfoﬂowinglmbemaddedtoﬂaeoﬁgimlﬁndameﬁaltigﬁs?
(A) Righttoconstitutional remedies  (B) ~Right to freedom of expression
(C) Rightto property (D) Rightto education

Which one of the following Mughal Emperors died on his way back from Kashmir ?
(A)  Akbar (B) Jahangir
(C) ShahJahan (D) Aurangzeb
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32

33.

34,

35.

36.

37.

38.

39.

Which one of the following countries doesn’t have borders with J and K State ?

(A) China (B) Pakistan
(C)  Afghanistan (D) Iran
Which one of the rivers mentioned below originates from China ?
(A) Indus (B) Ravi
(C) Chenab (D) Jhehim
Indus water treaty was signed between :
(A) IJ'ld'laand,Pak]stml (B) India, China and Pakistan

(C) India;Afghanistanand Pakistan (D) Indiaand Bangladesh

Which one of the following countries is a land locked country ?

(A) Tajikistan (B) Pakistan

(C) India (D) Bangladesh
Which one of the following rivers doesn’t originate from China ?

(A) Brahmaputra ®) Sullg

(C) Indus (D) Chenab

“Jinnah : India Partition and Independence™ has been written by :
(A) Jaswant Singh (B) L.K.Advani
(C) M.J. Akbar (D) AyeshaJalal

‘Which one of the following lakes is located in Jammu ?

(A) Mansarovar (B) Ramsar

(C) Hokarsar (D) Mansar
Mussadas has been written by :

(A) lgbal (B) Ghalib

(C) Faiz (D) Hali

Which of the canals links Atlantic Ocean with Pacific Ocean ?
(A) Suez (B) Panama
(C) Kiel Canal (D) IndiraGandhi Canal
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41.

42,

43.

45.

46.

47.

48.

49.

Name the Gazal singer who passed away in 2011 :

(A) AnupJalota (B) Mehdi Hassan

(C) Begum Akhtar (D) JagjitSingh
Malaria is caused by :

(A) Vius (B) Bacteria

(C) Parasite (D) Fungus

Hydrophobia is a disease caused by :

G Exomxetempe:me (B) Food poisoning
(C) Inhaling ofhydrogen (D) Dog-bite

Who was the President of The Constituent Assembly of India ?
(A) Ambedkar (B) Abul Kalam Azad
(C) Rajindar Prasad (D) Nehru

Who was the: first women govemor in India ?

(A) Pratibha Patil (B) Vijay Lakshmi Pandit

(C) Sarojini Naidu (D) FathimaBevi
English equivalent for the Lokpalis:

(A) Public prosecutor (B) Ombudsman

(C) Auditor general (D) Attomey general
Who is the Chairman of The Planning Commission of India ?

(A) Montek Singh Aluwalia (B) Dr.Manmohan Singh

(C)  PranabMukherji (D) AbhijitSen

Indian Cricket legend, Nawab Mansoor Ali Khan Pataudi belonged to :

(A) Hyderabad (B) Lucknow
(©) Haryana (D) Bhopal
Which one of the following singers was born in J&K State ?
(A) Begum Akhtar (B) AshaBhosle
(C) Malika Pukhraj (D) NoorJehan
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50.

51.

52

53.

54,

55.

56.

57.

Which one of the following poets has written National Anthem of two countries of the
subcontinent ?

(A) Igbal (B) Hafiz Jalandhari
(C) Tagore (D) Majaz
Siam is the old name of :
(A) Syria (B) Thailand
(C) Cambodia (D) Jordan

2011 nuclear disaster of Japan took place at :

(A) Fukushima (B) Hiroshima

(C) Nagasaki (D) Chemobyl
Jammu and Kashmir High Court was established in :

(A) 1947 (B) 1954

©) 1928 (D) 1931

Who among the following was known as Picasso of India ?
(A) M.F. Hussain (B) Amrita Shergill
(C) F.N.Souza (D) JatinDas

Information relating to right to life under right to information has to be provided within :
(A) Onemonth (B) One week
(C) 45days (D) 48hours

Fish can survive in deep frozen ponds because :
(A) Fishiscold blooded
(B) Theyhibemate
(C) Iceis good conductor of heat
(D) There is water at 4 degree Celsius below frozen ice

Heavy water isused in :
(A) Car batteries (B) Nuclear bombs
(C) Nuclear reactors (D) Rockets
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58. The scientist who discovered blood groupsiis :
(A) Darwin (B) T.H.Morgan
(C) William Harvey (D) Robert Hooke

59. Radcliff demarcated border between :
(A) Indiaand China (B) Indiaand Pakistan
(C) Indiaand Nepal (D) Indiaand Myanmar
60. “The God of Small Things” is a book authored by :
(A) ArmaAsifAli (B) ArunShourie
(C)  Arundhati Roy (D) Arun Jaitley
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LLB - 2010

LL.B. Three Year Course
1. 2010isthe International Year of :
(a) HumanRights (b) Biodiversity
(c) Sports . (d) Education

2. Adropofblood contains :
(a) about 10,000 cells (b) about 1,00,000 cells
(c) several million cells (d) lessthan 25,000 cells

3. A woman receives her X-chromosome from :
(a) hermotheronly (b) her father only
(c) both her mother and father (d) either her mother or her father

4.  Lock Jaw, thatis, difficulty in opening the mouth is a symptom of :
(a) plague (b) tetanus
(¢) cholera (d) noneoftheabove

5. What s the temperature of anormal man ?
(a) 81.1°C (b) 36.9°C
(© 21.7°C (d) 90°C

6.  The first Dalit and first woman Speaker of the Lok Sabha s : -
(a) Ms. Meira Kumar (b) Ms. Meena Kumari
(¢) Ms. Mamta Bannerjee (d) Ms.Mayawati

7. In2009 Climate Summit, 45,000 persons assembled for a new global agreement

on climate change at :
(a) Kyoto (b) Bali
(c) Washington (d) Copenhagen

8. In 2009 noted Indian music maestro Allah Rakha Rahman bagged prestigious
Academy Awards (Oscars) in two categories - Best original score and Best song for

his work in :
(a) Roja (b) SlumdogMillionaire
(¢) Chak De! India (d) Gandhi My Father

9.  TheIndian Moon mission that found traces of water across the surface of large parts
of the Moon in 2009 was named as :
(a) Chandrayaan-IV (b) Chandrayaan-I
(c) Chandrayaan - III (d) Chandrayaan - II
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10. Arrange the following rulers of Delhi Sultanate in chronological order :

A. Qutub-ud-din Aibak B. Balban

C. Titutmish ' D. Nasiruddin
(@ D,A,C,B () A,C,D,B
(© A,B,C,D @ C,A,D,B

11. Todar Mal was associated with :
(a) music (b) literature
(¢) landrevenue (d) lawreform

12. Whydid Gandhi start the Dandi March ?
(a) Todemonstrate against the policies of the British
(b) To break the Salt Law
(c) Toboycott foreign goods
(d) Noneofthe above

13. The Indian National Congress was founded by :

(a) W.C.Bannerjee (b) A.O.Hume
(¢) Mahatma Gandhi (d) AnnieBesant
ES

14. Who demarcated the line, that divides India and Pakistan ?

(a) SirCyril Radcliffe (b) SirMortimer Durand

(¢) Sir Henry Mc Mohan (d) Lord Mountbatten
15. *‘Vande Mataram’ was first published in :

(a) Gitanjali (b) Harijan

(c) Kesar (d) Anand Math
16. Dayand night are equal at the :

(a) Equator (b) Poles

(c) PrimeMeridian (d) Antarctic
17. The natural satellite of the earth s :

(a) Mars (b) Moon

(c) Venus (d) Neptune
18. Themean distance of the Earth from the Sun is approximately :

(a) 149,503,000 Km (b) 150,503,000 Km

(c) 148,000,000 Km (d) 150,000,000 Km
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20.

21.

22.

23.

24.

26.

20

The infrared radiation by Sun are strongly absorbed by :
(a) Carbondioxide
(b) Water vapours
(¢) Carbon dioxide and water vapours
(d) Ozone

Who discovered the sea - route to India ?
(a) VascodaGamain 1498 (b) Columbusin 1402
(¢) Magellanin 1506 (d) SirHopkinsin 1698

The Constitution of Jammu and Kashmir came into force from :
(a) January26, 1950 (b) January 26, 1951
(¢) January26, 1953 (d) January 26, 1957

Who is the author of the book, ‘Glimpses of World History’ ?
(a) Abul Kalam Azad (b) Jawaharlal Nehru
(¢) S.Gopalan (d) S.Radhakrishnan

Who among the following is not a Nobel Laureate ?
(a) AmartyaSen (b) C.V.Raman
(c) B.R.Ambedkar (d) Mother Teresa

-

The Indo - American high school student, Ms. Shivani Sud won Junior Nobel Prize

in 2008 for her project on :
(a) Bravery (b) Cancer
(¢) Humanrights (d) Alltheabove

Who won the World Economic Forum’s Crystal Award for 2009 ?
(a) Malika Sarabhai (b) Ms. Vasundhara Raje
() Ms. Nikkitasha Marhawa (d) Alltheabove

Ms. Pratibha Devising Patil is the— President of India :
(@) 12th (b) I11th
(c) 10th (d) 13th

Who became the ‘Fastest Man on Earth’ in the World Athletics Championship of
2009 ?

(a) Pankaj Advani (b) UsainBolt

(c) JuanMartin Del Potro (d) Rafael Nadal
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28.

29.

30.

3l.

32.

33.

34.

35

36.

The ‘God of Small Things’ is a novel written by :
(a) Satish Gujral (b) Arundhati Roy
(c) Vikram Seth (d) Salman Rushdie

Who among the following presided over the Buddhist Council held during the reign

of Kanishka in Kashmir ?
(a) Parsva (b) Nagarjuna
(c) Sudraka (d) Vasumitra

CTBT is a term associated with :
(a) nuclear weapons (b) central taxes
(c) tradesanctions (d) biotechnology

The U.N. Report commonly known as ‘Our Common Future’ relates to :
(a) computers (b) terrorism

(¢) environment (d) children

‘Who among the following did not receive the Civilian Award of Padma Vibhushan in

2009 ?
(a) Sunderlal Bahuguna (b) Anil Kakodkar &
(c) Sister Nirmala (d) Aishwarya Rai Bachchan

The Commonwealth Games 2010 are scheduled to be held in :
(a) Delhi (b) LosAngeles
(¢) Switzerland (d) New York

The six official languages of the U.N are Russian, English, Chinese, Arabic, French
and:

(a) Hindi (b) Japanese

(c) Spanish (d) Urdu

Din - I - Ilahi was founded by :
(a) GuruNanak Dev (b) Kabir
(c) Akbar (d) Shahjahan

Who is the Supreme Commander of the Armed Forces in India ?
(a) President (b) PrimeMinister
(c) General (d) Field Marshal
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37.

38.

39,

40.

41.

42.

43.

Percentage of Muslim population in the world population is Christian
population.

(a) lessthan (b) greater than

(c) equalto (d) noneoftheabove

In 1921 Albert Einstein was awarded :
(a) Death sentence (b) Nobel Prize
(c) Both(a)and (b) (d) Noneoftheabove

The book ‘Kashmir : Behind the Vale’ is written by :
() W.R.Lawrence (b) Jaswant Singh
(¢) M.J. Akbar (d) RehmanRahi

The organ that filters blood in human body is :
(a) heart (b)  thymus
(c) spleen (d) liver

Before entering upon the office of President of India, the President has to make and

subscribe on oath in the presence of : >
(a) the Vice- President (b) the Speaker of Lok Sabha
(c) theChieflJustice of India (d) ChiefElection Commissioner

Article 39-A of the Constitution of India deals with :
(a) Equaljustice and free legal aid
(b) Organisation of Village Panchayats
(¢) Uniform Civil Code
(d) Righttowork

The Vice President of India is elected by the :
(a) Members of both Houses of Parliament and State Legislatures
(b) Members of both Houses of Parliament
(¢) President and members of both Houses of Parliament
(d) President and Prime Minister

Which Article of the Constitution of India specifically prohibits discrimination on
grounds of religion, race, caste, sex or place of birth ?
(a) Articlel8 (b) Article20
(c) Articlel7 (d) Article15
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45. The Constitution of Jammu and Kashmir has its own :
(a) Fundamental Rights (b) Directive Principles
(c) Both(a)and (b) above (d) only(a)and not(b) above

46. The Power to refer a question of law or fact of public importance for the opinion of
the Supreme Court of India is vested with :
(a) ThePrime Minister of India (b) The Speaker of The Lok Sabha
(c) The President of India (d) Solicitor General of India

47. A person arrested and detained in custody has to be produced before the nearest

Magistrate within :
(a) Twelvehours (b) Twenty four hours
(c) Sixtydays (d) Onemonth

48. The right to move the Supreme Court for enforcement of Fundamental Rights is

guaranteed under :
(a) Article226 (b) Article32
(c) Article 14 (d) Article2l

»
49. The Fundamental Duty of every citizen of India to protect and improve the natural
environment is imposed under the Constitution of India by :
(a) Article50 (b) Article51
(c) Article51-A (d) Article49

50. An ‘unlawful assembly’ under the Indian Penal Code must consist of :
(a) Twoormorethantwopersons (b) Threeormorethan three persons

(c¢) Fourormore than four persons (d) Five ormore than five persons

51. A person who is associated with another person in the commission of an offence is

knownas :
(a) Accomplice (b) Approver
(c) Accusator (d) Abater

52. A pleading filed by defendant in a suit stating his grounds of defence is called :

(a) Plaint (b) Pleabargaining
(¢) Challan (d) Written statement
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37

38.

39.

40.

41

53:

54.

55.

56.

7.

58.

59.

60.

A lawsuit brought by a representative member of a large group of persons on behalf
of all others is called :

(a) Citation ' (b) Arbitration

(c) Classaction (d) Noneofthe above

Those remarks of a judge which are said or expressed casually and are not binding
being not directly relevant to the case at hand are called :

(a) mutatis mutandis (b) non-obstante

(c) obiterdictum (d) modus operandi

Which of the Articles in the Constitution guarantees right to privacy ?
(a) Article 14 (b) Article21
(c) Article19 (d) Article20

An order or writ issued by a court to an authority who occupies a public office to
show by what authority the public office is claimed is known as :

(@) Mandamus (b) Prohibition

(c) Habeas Corpus (d) Quo Warranto

Which Article of the Indian Constitution empowers the Pdfliament to form a new
State ?

(a) Article4 (b) Article5

(c) Article3 " (d) Article6

Thename ‘United Nations’ of the present United Nations Organisation was adopted
at the instance and suggestions of :

(a) President Roosevelt (b) Joseph Stalin

(¢) Winston Churchill (d) Alltheabove

The Headquarters of the Intemnational Court of Justice are at :
(a) New York (b) Switzerland
(c) Hague (d) Sweden

The agency that promotes trade at the international level with a view to accelerate
economic growth of the developing countries s :

(a) UNCTAD (b) IFAD

(¢) UNESCO (d) UNITAR
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